#### Case 2:19-cv-04132-DSF-JC Document 75-3 Filed 03/04/22 Page 1 of 75 Page ID #:1205

# **EXHIBIT C**

#### PracticePanther - Anita Trejo | Trejo V. Lyneer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 2 of 75 Page ID #:1206

: ITEM	0 0 0	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
Settlement REVIEW AND FINALIZE N FOR FINAL APPROVAL	10TION	BILLABLE	3/3/2022	1.3	\$550.00	\$715.00	JAY	
• Settlement REVIEW AND REVISE DECLARATION IN SUPPO MOTION FOR FINAL APP MOTION FOR FEES, COST INCENTIVE PAYMENT	ROVAL,	BILLABLE	3/3/2022	1.1	\$750.00	\$825.00	Кјо	
Settlement REVISE PROPOSED ORDI JUDGMENT WITH FINAL		BILLABLE	3/2/2022	0.4	\$550.00	\$220.00	JAY	
Settlement FINALIZE DRAFT MOTION FEES, COSTS AND INCEN PAYMENT		BILLABLE	3/1/2022	1.4	\$550.00	\$770.00	JAY	
Settlement PROVIDE CLIENT UPDAT	E	BILLABLE	3/1/2022	0.4	\$550.00	\$220.00	JAY	
• Settlement REVISE PLAINTIFF'S DECLARATION IN SUPPO FINAL APPROVAL	DRT OF	BILLABLE	2/24/2022	0.2	\$550.00	\$110.00	JAY	
Settlement REVISE PROPOSED ORDE GRANTING FINAL APPRO		BILLABLE	2/24/2022	0.3	\$550.00	\$165.00	JAY	

#### PracticePanther - Anita Trejo | Trejo V. Lyneer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 3 of 75 Page ID #:1207

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0
	Settlement REVISE PROPOSED JUDGMENT		BILLABLE		2/24/2022		0.1		\$550.00		\$55.00		JAY	
	• Analysis/Strategy REVIEW WEEKLY REPORT FROM ADMINISTRATOR		BILLABLE		2/18/2022		0.1		\$550.00		\$55.00		YAU	
	• Settlement DISCUSS SETTLEMENT WITH PUTATIVE CLASS MEMBER		BILLABLE		2/17/2022		0.1		\$550.00		\$55.00		YAU	
	Settlement SPEAK WITH PUTATIVE CLASS MEMBER REGARDING CLASS ACTION SETTLEMENT		BILLABLE		2/15/2022		0.4		\$550.00		\$220.00		JAY	
	• Settlement PROVIDE PUTATIVE CLASS MEMBER INFORMATION REGARDING APPROVAL		BILLABLE		2/14/2022		0.3		\$550.00		\$165.00		JAY	
	• Settlement EMAIL ADMINSTRATOR REGARDING MAILING OF NOTICE	E	BILLABLE		2/2/2022		0.1		\$550.00		\$55.00		YAU	
	• Settlement REVIEW COURT'S ORDER GRANTING STIPULATION CONTINUING FINAL APPROVAL		BILLABLE		1/26/2022		0.1		\$550.00		\$55.00		JAY	

PracticePanther - Anita Trejo | Trejo V. Lymeer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 4 of 75 Page ID #:1208

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY
	• Settlement REVIEW AND REVISE STIPULATION AND PROPOSED ORDER CONTINUING THE FINAL APPROVAL HEARING	BILLABLE	1/24/2022	0.3	\$550.00	\$165.00	JAY
	Communicate (with client) PROVIDE CLIENT UPDATE	BILLABLE	1/14/2022	0.3	\$550.00	\$165.00	JAY
	Settlement EMAIL OPPOSING COUNSEL REGARDING MAILING OF THE NOTICE	BILLABLE	1/10/2022	0.1	\$550.00	\$55.00	JAY
	Analysis/Strategy EMAIL ADMINISTRATOR REGARDING MAILING OF NOTICE	BILLABLE	1/4/2022	0.1	\$550.00	\$55.00	JAY
	Analysis/Strategy REVIEW CALCULATIONS FROM ADMINISTRATOR	BILLABLE	12/29/2021	0.2	\$550.00	\$110.00	JAY
	Analysis/Strategy FOLLOW UP WITH ADMINISTRATOR REGARDING MAILING OF NOTICE	BILLABLE	12/27/2021	0.1	\$550.00	\$55.00	JAY
	• Settlement REVIEW COURT'S ORDER AND EMAIL ADMINISTRATOR	BILLABLE	12/22/2021	0.1	\$550.00	\$55.00	JAY

#### PracticePanther - Anita Trejo | Trejo V. Lyneer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 5 of 75 Page ID #:1209

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	► Analysis/Strategy EMAIL ADMINISTRATOR REGARDING FINAL APPROVAL HEARING	BILLABLE	12/8/2021	0.1	\$550.00	\$55.00	JAY	
	○ Pleadings DRAFT STIPULATION AND PROPOSED ORDER CONTINUING FINAL APPROVAL HEARING. EMAIL TO OPPOSING COUNSEL FOR REVIEW	BILLABLE	12/6/2021	0.5	\$550.00	\$275.00	JAY	
	Settlement EMAIL ADMINISTRATOR AND DEFENDANTS REGARDING MAILING OF NOTICE	BILLABLE	12/3/2021	0.1	\$550.00	\$55.00	JAY	
	• Settlement DRAFT MOTION FOR APPLICATION OF ATTORNEYS FEES, COSTS, AND ENHANCEMENT PAYMENT	BILLABLE	11/30/2021	2.1	\$550.00	\$1,155.00	JAY	
	• Settlement INITIAL DRAFT MOTION FOR FINAL APPROVAL	BILLABLE	11/30/2021	1.8	\$550.00	\$990.00	JAY	
	• Communicate (with client) DISCUSS DECLARATION WITH CLIENT	BILLABLE	11/30/2021	0.3	\$550.00	\$165.00	JAY	

PracticePanther - Anita Trejo | Trejo V. Lymeer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 6 of 75 Page ID #:1210

0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY	0 0 0
	Settlement DRAFT DECLARATION IN SUPPORT OF FINAL APPROVAL MOTION	BILLABLE	11/29/2021	1.7	\$550.00	\$935.00	JAY	
	Settlement DRAFT TREJO DECLARATION IN SUPPORT OF FINAL APPROVAL AND INCENTIVE PAYMENT	BILLABLE	11/29/2021	0.5	\$550.00	\$275.00	YAY	
	Settlement DRAFT PROPOSED JUDGMENT	BILLABLE	11/29/2021	0.6	\$550.00	\$330.00	YAL	
	Settlement DRAFT PROPOSED ORDER GRANTING FINAL APPROVAL	BILLABLE	11/29/2021	0.6	\$550.00	\$330.00	YAU	
	• Settlement EMAIL OPPOSING COUNSEL REGARDING CLASS INFORMATION	BILLABLE	11/22/2021	0.1	\$550.00	\$55.00	YAU	
	Settlement EMAIL ADMINISTRATOR REGARDING MAILING OF NOTIC	BILLABLE	11/17/2021	0.1	\$550.00	\$55.00	YAL	
	• Settlement DISCUSS CASE STATUS WITH K. ODENBREIT	BILLABLE	11/9/2021	0.1	\$550.00	\$55.00	JAY	

PracticePanther - Anita Trejo | Trejo V. Lymeer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 7 of 75 Page ID #:1211

0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	Settlement EMAIL ADMINISTRATOR REGARDING MAILING OF CLASS NOTICE	BILLABLE	11/5/2021	0.1	\$550.00	\$55.00	YAL	
	Settlement EMAIL ADMINISTRATOR REGARDING MAILING OF CLASS NOTICE	BILLABLE	11/3/2021	0.1	\$550.00	\$55.00	JAY	
	Settlement EMAIL OPPOSING COUNSEL REGARDING CLASS DATA	BILLABLE	11/2/2021	0.1	\$550.00	\$55.00	JAY	
	Court Mandated Conferences REVIEW STIPULATION AND PROPOSED ORDER CONTINUING FINAL APPROVAL HEARING	BILLABLE	10/8/2021	0.4	\$550.00	\$220.00	AY	
	Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING MAILING OF NOTICE	BILLABLE	10/7/2021	0.1	\$550.00	\$55.00	JAY	
	Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING MAILING OF NOTICE	BILLABLE	10/5/2021	0.1	\$550.00	\$55.00	YAI	

PracticePanther - Anita Trejo | Trejo V. Lyneer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 8 of 75 Page ID #:1212

0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0
	• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING MAILING OF NOTICE	BILLABLE	9/29/2021	0.1	\$550.00	\$55.00	JAY	
	Communicate (with client) PROVIDE CLIENT UPDATE REGARDING SETTLEMENT	BILLABLE	9/29/2021	0.2	\$550.00	\$110.00	JAY	
	• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING MAILING OF NOTICE	BILLABLE	9/21/2021	0.1	\$550.00	\$55.00	JAY	
	• Settlement EMAIL OPPOSING COUNSEL REGARDING MAILING OF CLASS NOTICE	BILLABLE	9/14/2021	0.1	\$550.00	\$55.00	JAY	
	• Settlement DISCUSS CLASS NOTICE ADMINISTRATION WITH OPPOSING COUNSEL	BILLABLE	9/2/2021	0.1	\$550.00	\$55.00	JAY	
	Settlement Follow UP WITH OPPOSING COUNSEL REGARDING CLASS DATA TO ADMINISTRATOR	BILLABLE	9/1/2021	0.1	\$550.00	\$55.00	JAY	

PracticePanther - Anita Trejo | Trejo V. Lymeer Staffing Solutions, LLC, et al. Class, Filed 03/04/22 Page 9 of 75 Page ID #:1213

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	
	Settlement REVIEW COURT'S ORDER GRANTING CONTINUED FINAL APPROVAL HEARING		BILLABLE		8/30/2021		0.1		\$550.00		\$55.00		JAY	
	• Settlement REVISE STIPULATION AND EMA TO OPPOSING COUNSEL FOR APPROVAL	IL	BILLABLE		8/27/2021		0.2		\$550.00		\$110.00		JAY	
	Settlement EMAIL OPPOSING COUNSEL REGARDING SETTLEMENT ADMINISTRATION		BILLABLE		8/25/2021		0.1		\$550.00		\$55.00		JAY	
	• Settlement FOLLOW UP WITH ADMINISTRATOR REGARDING THE MAILING OF THE NOTICE		BILLABLE		8/18/2021		0.1		\$550.00		\$55.00		JAY	
	Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT DATA.		BILLABLE		8/9/2021		0.3		\$750.00		\$225.00		Кјо	
	Settlement FOLLOW UP WITH ADMIN REGARDING MAILING OF NOTIO	CE	BILLABLE		8/4/2021		0.1		\$550.00		\$55.00		JAY	
	Settlement EMAIL ADMIN REGARDING CLAS INFORMATION AND MAILING	SS	BILLABLE		7/28/2021		0.1		\$550.00		\$55.00		JAY	

PracticePanthe	r - Anita Trejo   Trejo v. Lyneer	<b>19-c</b> Staffing	4-04132-DS	tal. (	Class) <b>ocume</b>	ent 7 #:	5-3 Filed 03 1214	/04/22	Page 10	of 75 Page IE	)		
0 0 0	ITEM	: STA	TUS	0 0 0	DATE 🕹		: HRS.	0 0 0	RATE	TOTAL	0 0 0	BILLED BY	0 0 0
	• Settlement FOLLOW UP WITH ADMINISTRATOR REGARDING MAILING OF NOTICE		BILLABLE		7/21/2021		0.1		\$550.00	\$55.00		JAY	
	Settlement DISCUSS DEADLINES FOR FILING FINAL APPROVAL DOCUMENTS	6	BILLABLE		7/9/2021		0.2		\$550.00	\$110.00		JAY	
	• Analysis/Strategy CALL WITH J. YOUNG TO REVIEW CASE IN PREPARATION FOR DRAFTING FINAL APPROVAL MOTION.		BILLABLE		7/8/2021		0.1		\$550.00	\$55.00		KNB	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING FINAL APPROVAL MOTION.		BILLABLE		7/8/2021		0.4		\$750.00	\$300.00		Кјо	
	Settlement CALL WITH K. ODENBREIT REGARDING FINAL APPROVAL MOTION		BILLABLE		7/8/2021		0.4		\$550.00	\$220.00		JAY	
	Analysis/Strategy AUDIT FILE, UPDATE CASE PLAN		BILLABLE		6/25/2021		0.2		\$175.00	\$35.00		SC	
	Settlement EMAIL ADMINISTRATOR REGARDING MAILING OF CLASS NOTICE		BILLABLE		6/21/2021		0.1		\$550.00	\$55.00		JAY	

# PracticePanther - Anita Trejo | Trejo v. Lyneer Staming Solutions, LEC, et al. (Class) #:1215

0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY
	• Settlement REVIEW COURT'S ORDER GRANTING PRELIMINARY APPROVAL	BILLABLE	6/15/2021	0.2	\$550.00	\$110.00	JAY
	• Settlement FINALIZE AMENDED ORDER AND NOTICE TO ATTACH TO DECLARATION OF K. ODENBREIT	BILLABLE	6/14/2021	0.6	\$550.00	\$330.00	JAY
	Settlement REVIEW/REVISE THIRD AMENDED PROPOSED ORDER.	BILLABLE	6/11/2021	0.6	\$750.00	\$450.00	KJO
	• Settlement FOLLOW UP WITH K. ODENBREIT REGARDING REVISED NOTICE AND ORDER	BILLABLE	6/11/2021	0.1	\$550.00	\$55.00	JAY
	Settlement EMAIL AMENDED ORDER AND NOTICE TO OPPOSING COUNSEL FOR REVIEW.	BILLABLE	6/11/2021	0.1	\$550.00	\$55.00	JAY
	Settlement REVISE PROPOSED ORDER AND NOTICE TO COMPLY WITH COURT'S ORDER	BILLABLE	6/9/2021	0.8	\$550.00	\$440.00	JAY

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Staffing Solutions, LLC, et al. (Class) #:1216

ITEM	STATUS	: DATE ↓	HRS.	: RATE	: TOTAL	BILLED BY	0 0 0
• Settlement REVIEW COURT ORDER REGARING PRELIMINARY APPROVAL OF SETTLEMENT.	BILLABLE	6/8/2021	0.2	\$750.00	\$150.00	KIO	
Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT APPROVAL MOTION.	BILLABLE	6/8/2021	0.4	\$750.00	\$300.00	КЈО	
• Settlement CALL WITH K. ODENBREIT RE COURT'S ORDER	BILLABLE	6/8/2021	0.2	\$550.00	\$110.00	YAY	
Settlement REVIEW SUPPLEMENTAL DECLARATION AND DOCUMENTS WITH JOHN YOUNG.	BILLABLE	6/4/2021	0.6	\$750.00	\$450.00	КЈО	
Settlement FINALIZE SUPPLEMENTAL DOCUMENTS FOR FILING	BILLABLE	6/4/2021	0.6	\$550.00	\$330.00	JAY	
Settlement FOLLOW UP WITH COUNSEL FOR LYNEER REGARDING ADDENDUM		6/3/2021	0.1	\$550.00	\$55.00	JAY	
Settlement REVIEW AND REVISE SUPPLEMENT BRIEFING FOR PRELIMINARY APPROVAL	BILLABLE	6/3/2021	0.4	\$550.00	\$220.00	YAU	

PracticePanth	er - Anita Trejo   Trejo v. Lyneer	2:19-cv-04132-DC;	SEF-JC <sub>Class</sub> ocumen	t 75-3 Filed 03/ #:1217	/04/22 Page 13 of	75 Page II	)	
:	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	• Settlement REVIEW COURT'S ORDER REGARDING PRELIMINARY APPROVAL OF SETTLEMENT.	BILLABLE	6/1/2021	0.2	\$750.00	\$150.00	КЈО	
	Settlement EMAIL EXCHANGE WITH JOHN YOUNG REGARDING ORDER FROM COURT.	BILLABLE	6/1/2021	0.2	\$750.00	\$150.00	KJO	
	• Settlement REVIEW COURT'S ORDER AND DRAFT ADDENDUM FOR DEFENDANTS' REVIEW/SIGNATURES	BILLABLE	6/1/2021	0.3	\$550.00	\$165.00	JAY	
	• Settlement REVIEW EMAIL FROM DEPARTMENT REGARDING PROPOSED ORDER.	BILLABLE	5/25/2021	0.1	\$550.00	\$55.00	JAY	
	Settlement REVISE PROPOSED ORDER.	BILLABLE	5/25/2021	0.3	\$550.00	\$165.00	JAY	
	• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING AMENDED DOCUMENTS	BILLABLE	5/24/2021	0.1	\$550.00	\$55.00	JAY	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 14 of 75 Page ID #:1218

0 0 0	ITEM	: STATUS	• • •	DATE ↓	0 0 0	HRS.	• F	RATE	: TC	DTAL	• E	BILLED BY	•
	• Settlement CALL LYNEER STAFFING'S COUNSEL AND EMAIL TO CONFIRM AVAILABILITY OF FINA APPROVAL DATE		ABLE	5/21/2021		0.1	\$	550.00	\$5	5.00	(	JAY	
	Settlement EMAIL OPPOSING COUNSEL REGARDING FINAL APPROVAL HEARING AVAILABILITY	BILL	ABLE	5/20/2021		0.1	\$	550.00	\$5	5.00	(	JAY	
	Communicate (with client) TRANSLATE FOR JAY , PROVIDED PC WITH AN UPDATE ON HER CASE	) BILL	ABLE	5/20/2021		0.33	\$	3150.00	\$4	9.50	(	KN	
	Communicate (with client) SPEAK WITH CLIENT AND PROVIDE UPDATE REGARDING APPROVAL PROCESS	BILL	ABLE	5/20/2021		0.5	\$	550.00	\$2	75.00	(	JAY	
	• Settlement REVIEW AND RESPOND TO OPPOSING COUNSEL REGARDING AMENDED ORDER/NOTICE	BILL	ABLE	5/19/2021		0.1	\$	550.00	\$5	5.00	(	JAY	
	Settlement ATTEND HEARING ON MOTION FOR PRELIMINARY APPROVAL	BILL	ABLE	5/17/2021		0.6	\$	550.00	\$3	30.00	(	JAY	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starring Solutions, LLC, et al. (Class) Filed 03/04/22 Page 15 of 75 Page ID #:1219

0 0 0	ITEM	: STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0
	• Settlement REVIEW MOTION AND SUPPORTING DOCUMENTS IN PREPARATION FOR HEARING OF PRELIMINARY APPROVAL		ABLE	5/17/2021		0.5		\$550.00		\$275.00		JAY	
	• Settlement REVIEW AND REVISE CLASS NOTICE AND ORDER PURSUANT TO JUDGE FISCHER'S ORDER AT HEARING ON PRELIMINARY APPROVAL AND EMAIL TO OPPOSING COUNSEL		ABLE	5/17/2021		0.4		\$550.00		\$220.00		JAY	
	Analysis/Strategy AUDIT HEARINGS	BILL	ABLE	4/28/2021		0.1		\$175.00		\$17.50		SC	
	• Settlement UPLOAD SETTLEMENT AGREEMENT TO THE LWDA	BILL	ABLE	4/22/2021		0.3		\$550.00		\$165.00		YAL	
	• Settlement FINALIZE MOTION FOR PRELIMINARY APPROVAL AND SUPPORTING DECLRATION. EMAIL TO OPPOSING COUNSEL FOR REVIEW		ABLE	4/22/2021		1.8		\$550.00		\$990.00		JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING MOTION FOR PRELIMINARY APPROVAL.	BILL	ABLE	4/22/2021		0.3		\$750.00		\$225.00		KJO	

Prac	ticePanther	- Anita Trejo   Trejo v. Lyneer Sta	9-CV-04132-DSF	al. (Class)	t 75-3 Filed 03/04 #:1220	4/22 Page 16 o	f 75 Page II	D	
	0 0 0	ITEM :	STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY	0 0 0
		• Settlement REVIEW FINALIZED PDF VERSION OF MOTION FOR PRELIM APPROVAL WITH EXHIBITS	BILLABLE	4/22/2021	0.4	\$550.00	\$220.00	JAY	
		• Settlement FORMAT, FILE AND SERVE MOTION FOR PRELIMINARY APPROVAL.	BILLABLE	4/22/2021	2	\$185.00	\$370.00	GDM	
		Settlement REVIEW OPPOSING COUNSEL'S REVISIONS TO THE JOINT MOTION FOR PRELIMINARY APPROVAL	BILLABLE	4/21/2021	0.6	\$550.00	\$330.00	JAY	
		• Settlement DISCUSS DEFENDANT'S PROPOSED REVISIONS TO JOINT MOTION WITH K. ODENBREIT. EMAIL REVISED AGREEMENT WITH EXHIBITS TO OPPOSING COUNSEL	BILLABLE	4/21/2021	0.4	\$550.00	\$220.00	JAY	
		• Communicate (with client) CALL CLIENT RE SETTLEMENT AGREEMENT - TRANSLATION FOR J.YOUNG.	BILLABLE	4/21/2021	0.3	\$180.00	\$54.00	SM	

Panther -	- Anita Trejo   Trejo v. Lyneer	-19-cv-04132-D	SE - J.C. Document	75-3 Filed 03/ #:1221	/04/22 Page 17 o	f 75 Page ID	)
0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY
	• Communicate (with client) REVIEW SETTLEMENT AGREEMENT WITH CLIENT	BILLABLE	4/21/2021	0.3	\$550.00	\$165.00	JAY
	• Settlement REVIEW EMAIL FROM STACEY COOPER REGARDING JOINT MOTION FOR APPROVAL OF SETTLEMENT AND REVISIONS.	BILLABLE	4/21/2021	0.6	\$750.00	\$450.00	КІО
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING MOTION FOR APPROVAL OF SETTLEMENT	BILLABLE T.	4/21/2021	0.4	\$750.00	\$300.00	КЈО
	• Settlement REVIEW YUSEN'S PROPOSED REVISIONS AND REVISE THE SETTLEMENT AGREEMENT TO COMPLY WITH COURT'S STANDING ORDER. EMAIL TO OPPOSING COUNSEL	BILLABLE	4/21/2021	0.4	\$550.00	\$220.00	YAY
	• Settlement PROVIDE SETTLEMENT AGREEMENT SIGNED BY PLAINTIFF TO OPPOSING COUNSEL	BILLABLE	4/21/2021	0.1	\$550.00	\$55.00	JAY
	Settlement REVIEW/REVISE SETTLEMENT AGREEMENT.	BILLABLE	4/20/2021	0.5	\$750.00	\$375.00	КІО

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 18 of 75 Page ID #:1222

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	•	TOTAL	•	BILLED BY
	• Settlement EMAIL EXCHANGE WITH JOHN YOUNG REGARDING SETTLEMENT AGREEMENT.		BILLABLE		4/20/2021		0.1		\$750.00	41	\$75.00		κιο
	• Settlement REVIEW K. ODENBREIT'S REVISIONS TO AGREEMENT AN EMAIL AGREEMENT TO S. MARQUEZ FOR CLIENT	D	BILLABLE		4/20/2021		0.3		\$550.00	4	\$165.00		JAY
	• Settlement REVIEW COURT'S ORDERS AND RESPOND TO OPPOSING COUNSEL'S EMAIL REGARDING JOINT MOTION FOR PRELIMINARY APPROVAL		BILLABLE		4/20/2021		0.2		\$550.00	4	\$110.00		JAY
	• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING FINALIZED SETTLEMENT AGREEMENT		BILLABLE		4/19/2021		0.1		\$550.00	41	\$55.00		JAY
	• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING REVISIONS TO AGREEMENT		BILLABLE		4/13/2021		0.1		\$550.00	4	\$55.00		JAY
	Settlement EMAIL PROPOSED JOINT DRAFT MOTION TO OPPOSING COUNSEL	Г	BILLABLE		4/7/2021		0.1		\$550.00	41	\$55.00		JAY

Practi	cePanther	- Anita Trejo   Trejo v. Lyneer 23	<b>19-cv-04132-DS</b>	F-JC Documen	t 75-3 Filed 03/0 #:1223	)4/22 Page 19 o	f 75 Page ID	)	
	0 0 0	ITEM	STATUS	: DATE 🕹	; HRS.	: RATE	: TOTAL	BILLED BY	0 0 0
		• Settlement DRAFT INITIAL JOINT MOTION FOR PRELIMINARY APPROVAL	BILLABLE	4/6/2021	2.6	\$550.00	\$1,430.00	JAY	
		● Analysis/Strategy EXCHANGE EMAILS WITH EXPERT RE ANALYSIS, REVIEW ANALYSIS	BILLABLE	4/5/2021	0.2	\$550.00	\$110.00	JAY	
		• Settlement REVIEW AND REVISE SETTLEMENT AGREEMENT. EMAIL WITH K. MAHONEY RE SETTLEMENT TERMS	BILLABLE	4/5/2021	0.2	\$550.00	\$110.00	JAY	
		Settlement INITIAL DRAFT DECLARATION IN SUPPORT OF THE MOTION FOR PRELIMINARY APPROVAL	BILLABLE	4/2/2021	2.3	\$550.00	\$1,265.00	JAY	
		• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING REVISIONS TO THE SETTLEMENT AGREEMENT	BILLABLE	4/1/2021	0.1	\$550.00	\$55.00	JAY	
		• Settlement REVIEW REVISIONS PROPOSED BY DEFENDANTS, COMPARE TO MOU. ADD REDLINE AND COMMENTS. EMAIL TO K. ODENBREIT TO REVIEW	BILLABLE	4/1/2021	1.1	\$550.00	\$605.00	JAY	

Panther - Anita Trejo   Trej	o v. Lyneer staming Solutions, LL	SF-JC Document	75-3 Filed 03/0 #:1224	04/22 Page 20 of	75 Page I	D	
: ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
Settlement DRAFT PROPOSED	ORDER BILLABLE	4/1/2021	0.8	\$550.00	\$440.00	JAY	
Settlement EMAIL OPPOSING SETTLEMENT AGR		3/26/2021	0.1	\$550.00	\$55.00	JAY	
• Settlement FOLLOW UP WITH COUNSEL REGARE REVISIONS TO LOP AGREEMENT	DING BILLABLE	3/23/2021	0.1	\$550.00	\$55.00	JAY	
Settlement DRAFTING OF THE PRELIMINARY APP		3/22/2021	1.6	\$550.00	\$880.00	JAY	
• Analysis/Str REVIEW FILINGS A CASE STATUS		3/19/2021	0.1	\$550.00	\$55.00	JAY	
Settlement REVIEW AND FINAL STIPULATION FOLL OPPOSING COUNS REVISIONS	LOWING BILLABLE	3/18/2021	0.2	\$550.00	\$110.00	JAY	
Pleadings FORMAT, FILE AND AMENDED COMPL		3/17/2021	1	\$185.00	\$185.00	GDM	

ePanthe	r - Anita Trejo   Trejo v. Lyneer	:19-cv-04132 Staffing Solutions,	-DSF-JC (Class) ocument	75-3 Filed 03 #:1225	/04/22 Page 21 o	f 75 Page ID	)
0 0 0	ITEM	STATUS	: DATE 🕹	HRS.	RATE	: TOTAL	BILLED BY
	• Settlement DRAFT STIPULATION TO CONTINUE DEADLINE FOR PRELIMINARY APPROVAL	BILLABLE	3/17/2021	0.4	\$550.00	\$220.00	JAY
	▶ Pleadings DISCUSS FILING OF AMENDED COMPLAINT WITH N. PIERSON. EMAIL TO G. MARTINEZ TO FILE	BILLABLE	3/16/2021	0.2	\$550.00	\$110.00	JAY
	• Settlement REVIEW COURT'S ORDERS REGARDING MOTION, RESEARCI FILINGS BEFORE JUDGE FISCHER INITIATE DRAFTING JOINT MOTION FOR PRELIMINARY APPROVAL		3/16/2021	2.6	\$550.00	\$1,430.00	JAY
	Pleadings REVIEW COURT'S ORDER RE FILING AMENDED COMPLAINT	BILLABLE	3/15/2021	0.1	\$550.00	\$55.00	YAY
	Settlement DRAFT LONG FORM SETTLEMEN AGREEMENT	IT BILLABLE	3/4/2021	1.4	\$550.00	\$770.00	JAY
	Settlement DRAFT CLASS NOTICE AND OPT- OUT FORM FOR CLASS SETTLEMENT	BILLABLE	3/4/2021	0.8	\$550.00	\$440.00	JAY

PracticePa	nthei	- Anita Trejo   Trejo v. Lyneer	<mark>2:1</mark> Stai	9-CV-04132-DSF	<b>- J(</b>	Class)ocument	75-3 #:122	Filed 03/04/ 26	22	Page 22	of 7	75 Page ID			
	0 0 0	ITEM	0 0	STATUS	0 0	DATE ↓	0 0 0	HRS.	0000	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0 0
		Settlement REVIEW EMAIL FROM COURT CLERK REGARDING PROPOSED ORDER.		BILLABLE		3/4/2021		0.1		\$750.00		\$75.00		КЈО	
		Settlement DRAFT EMAIL TO JOHN YOUNG AND NICOLE PIERSON REGARDING PROPOSED ORDER		BILLABLE		3/4/2021		0.2		\$750.00		\$150.00		КЈО	
		• Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING STIPULATIONS AND MOU		BILLABLE		3/2/2021		0.1		\$550.00		\$55.00		JAY	
		Pleadings EMAIL COUNSEL FOR YUSEN REGARDING FILING ANSWER/FIRST APPEARANCE FI	EE	BILLABLE		2/24/2021		0.1		\$550.00		\$55.00		JAY	
		• Settlement REVIEW PROPOSED AMENDED COMPLAINT ADDING PAGA.		BILLABLE		2/9/2021		0.4		\$750.00		\$300.00		КЈО	
		• Settlement REVIEW/REVISE STIPULATION REGARDING PROPOSED AMENDED COMPLAINT TO ADD PAGA CLAIMS.	D	BILLABLE		2/9/2021		0.4		\$750.00		\$300.00		КЈО	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 23 of 75 Page ID #:1227

0 0 0	ITEM :	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY
	• Settlement REVIEW/RESPOND TO EMAIL FROM JOHN YOUNG REGARDING PROPOSED AMENDED COMPLAINT TO ADD PAGA CLAIMS.	BILLABLE	2/9/2021	0.2	\$750.00	\$150.00	Кјо
	Analysis/Strategy EMAIL EXCHANGE WITH JOHN YOUNG REGARDING STRATEGY.	BILLABLE	2/9/2021	0.2	\$750.00	\$150.00	KJO
	Pleadings REVISE FIRST AMENDED COMPLAINT AND STIPULATION. EMAIL DRAFT TO OPPOSING COUNSEL	BILLABLE	2/9/2021	0.6	\$550.00	\$330.00	JAY
	• Settlement REVIEW DEFENDANTS' EDITS TO MOU.	BILLABLE	2/4/2021	0.5	\$750.00	\$375.00	KJO
	Settlement DRAFT EMAIL TO JOHN YOUNG REGARDING ADDITIONAL EDITS TO MOU.	BILLABLE	2/4/2021	0.1	\$750.00	\$75.00	KJO
	• Pleadings FINISH STIPULATION TO FILE FIRST AMENDED COMPLAINT AND DRAFT FIRST AMENDED COMPLAINT	BILLABLE	2/4/2021	1.1	\$550.00	\$605.00	JAY

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 24 of 75 Page ID #:1228

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	• Settlement REVIEW EMAIL EXCHANGE BETWEEN JOHN YOUNG AND DEFENDANTS' COUNSEL REGARDING CONFERENCE CALL TO DISCUSS SETTLEMENT AGREEMENTS.	BILLABLE	2/3/2021	0.2	\$750.00	\$150.00	Кјо	
	• Settlement DRAFT EMAIL TO JOHN YOUNG REGARDING STATUS OF SETTLEMENT AGREEMENTS AND CALL WITH DEFENDANTS' COUNSEL.	BILLABLE	2/3/2021	0.1	\$750.00	\$75.00	Кјо	
	Settlement EMAIL WITH K. ODENBREIT REGARDING SETTLEMENT AGREEMENT	BILLABLE	2/3/2021	0.2	\$550.00	\$110.00	JAY	
	• Settlement TELEPHONE CONFERENCE WITH JOHN YOUNG, DANIEL CHAMMAS AND STACEY COOPE REGARDING MOU AND SETTLEMENT AGREEMENT.	BILLABLE	2/3/2021	0.7	\$750.00	\$525.00	Кјо	
	• Analysis/Strategy TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT.	BILLABLE	2/3/2021	0.3	\$750.00	\$225.00	KJO	

anthe	r - Anita Trejo   Trejo v. Lyneer st	19-cv-04132-DC	SE-JC <sub>Class</sub> Document	75-3 Filed 03/ #:1229	/04/22 Page 25 o	f 75 Page II	)	
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	
	Settlement DISCUSS SETTLEMENT WITH OPPOSING COUNSEL	BILLABLE	2/3/2021	0.6	\$550.00	\$330.00	JAY	
	Pleadings DRAFT JOINT STIPULATION FOR LEAVE TO AMEND COMPLAINT	BILLABLE	2/3/2021	0.4	\$550.00	\$220.00	JAY	
	Settlement FOLLOW UP WITH OPPOSING COUNSEL REGARDING MOU AND OR SETTLEMENT AGREEMENT	BILLABLE	1/29/2021	0.1	\$550.00	\$55.00	JAY	
	• Settlement REVIEW COURT'S EMAIL AND EMAIL PROPOSED ORDER PURSUANT TO THE COURT'S REQUEST	BILLABLE	1/27/2021	0.2	\$550.00	\$110.00	JAY	
	Class Action Certification and Notice REVIEW/RESPOND TO REQUEST FROM COURT FOR PROPOSED ORDER IN WORD RE STIPULATION TO CONTINUE DEADLINE FOR CLASS CERTIFICATION.	BILLABLE	1/27/2021	0.1	\$750.00	\$75.00	KJO	
	Class Action Certification and Notice DRAFT EMAIL TO JOHN YOUNG REGARDING REQUEST FOR PROPOSED ORDER IN WORD.	BILLABLE	1/27/2021	0.1	\$750.00	\$75.00	KJO	

PracticePant	ther - Anita Trejo   Trejo v. Lyneer S	19-cv-04132-DS	F-JC Documen	t 75-3 Filed 03/0 #:1230	04/22 Page 26 of	f 75 Page IE	)	
	ITEM	STATUS	: DATE ↓	: HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	Analysis/Strategy TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT.	BILLABLE	1/22/2021	0.4	\$750.00	\$300.00	Кјо	
	• Analysis/Strategy CALL WITH K. ODENBREIT REGARDING SETTLEMENT	BILLABLE	1/22/2021	0.4	\$550.00	\$220.00	JAY	
	● Pleadings DRAFT STIPULATION/ORDER TO CONTINUE DEADLINE TO FILE MOTION FOR CLASS CERT, SET PRELIM APPROVAL HEARING	BILLABLE	1/22/2021	0.3	\$550.00	\$165.00	JAY	
	• Settlement DRAFT EMAIL TO DEFENDANTS' COUNSEL REGARDING EX PARTE NOTICE AND STIPULATION TO CONTINUE CERTIFICATION MOTION FILING.	BILLABLE	1/22/2021	0.3	\$750.00	\$225.00	Кјо	
	• Settlement EMAIL EXCHANGE WITH DANIEL CHAMMAS REGARDING STIPULATION TO CONTINUE CERTIFICATION DEADLINE.	BILLABLE	1/22/2021	0.2	\$750.00	\$150.00	КЈО	
	► Pleadings FORMAT, FILE AND SERVE STIPULATION TO CONTINUE CLASS CERTIFICATION DEADLINE AND PROPOSED ORDER.	BILLABLE	1/22/2021	0.5	\$185.00	\$92.50	GDM	

ePanthei	r - Anita Trejo   Trejo v. Lyneer	2:19-cv-( Staffing Sol	4132 DSF	al. (c	Class) tass) #:1	5-3 .23	Filed 03/04/22 1	2	Page 27 o	f 75	5 Page ID			
0 0 0	ITEM	: STATU	S	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0
	• Settlement EMAIL WITH MEDIATOR REGARDING MOU	BIL	LABLE		1/11/2021		0.1		\$550.00		\$55.00		JAY	
	• Settlement EMAIL MEDIATOR REGARDING LACK OF RESPONSE TO MOU EMAILS	BII	LABLE		1/7/2021		0.1		\$550.00		\$55.00		JAY	
	• Written Discovery EMAIL OPPOSING COUNSEL REGARDING DOCUMENTS AND VERIFICATIONS	) BII	LABLE		12/15/2020		0.1		\$550.00		\$55.00		JAY	
	SPEAK WITH CLIENT AND PROVIDE UPDATE	BIL	LABLE		12/15/2020		0.3		\$550.00		\$165.00		JAY	
	• Analysis/Strategy CASE REVIEW WITH J. YOUNG. UPDATE CASE PLAN.	BIL	LABLE		12/14/2020		0.1		\$750.00		\$75.00		ARS	
	Analysis/Strategy DISCUSS CASE STATUS WITH A. SALUSKY	BIL	LABLE		12/14/2020		0.2		\$550.00		\$110.00		JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT.	BII	LABLE		12/10/2020		0.2		\$750.00		\$150.00		KJO	

Panther - Anita Trejo   Trejo v. Lyneerst	19-cv-04132-DS	F-JC <sub>Class</sub> )ocumen	t 75-3 Filed 03/ #:1232	/04/22 Page 28 o	f 75 Page IE	)	
ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
Settlement DRAFT EMAIL TO DEFENDANTS' COUNSEL REGARDING MOU.	BILLABLE	12/10/2020	0.2	\$750.00	\$150.00	КЈО	
Settlement DISCUSS CASE STATUS AND SETTLEMENT WITH K. ODENBREIT	BILLABLE	12/10/2020	0.2	\$550.00	\$110.00	YAL	
Settlement EMAIL OPPOSING COUNSEL REGARDING FINALIZING MOU	BILLABLE	11/30/2020	0.1	\$550.00	\$55.00	YAL	
• Communicate (with client) RESPOND TO CLIENT'S CALL REGARDING SETTLEMENT DOCUMENTS	BILLABLE	11/30/2020	0.1	\$550.00	\$55.00	YAY	
Settlement REVIEW AND REVISE MOU	BILLABLE	11/17/2020	0.3	\$550.00	\$165.00	JAY	
• Settlement REVIEW MEMORANDUM OF UNDERSTANDING.	BILLABLE	11/17/2020	0.5	\$750.00	\$375.00	КЈО	
Settlement REVIEW/RESPOND TO EMAIL FROM JOHN YOUNG REGARDING MEMORANDUM OF UNDERSTANDING.	BILLABLE	11/17/2020	0.2	\$750.00	\$150.00	KJO	

PracticeP	anther	- Anita Trejo   Trejo v. Lyneer	2:1 Sta	9-cv-04132-DS	<b>E-J(</b> tal.	C (Cla	Document #	75-3 #:123	3 Filed 33	03/04/22		Page 29	of 7	75 Page ID				
	0 0 0	ITEM	0 0 0	STATUS	0 0 0	D	DATE 🕹	0 0 0	HRS.		0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0 0	
		• Analysis/Strategy CASE REVIEW WITH J. YOUNG AND UPDATE CASE PLAN.		BILLABLE		1	0/20/2020		0.1			\$750.00		\$75.00		ARS		
		Settlement SEND FOLLOW UP EMAIL TO OPPOSING COUNSEL REGARDING MOU/SETTLEMENT AGT.	Т	BILLABLE		1	0/16/2020		0.2			\$550.00		\$110.00		JAY		
		Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT AND PAGA CLAIM	1.	BILLABLE		1	0/14/2020		0.3			\$750.00		\$225.00		KJO		
		• Written Discovery REVIEW AND RESPOND TO OPPOSING COUNSEL EMAIL REGARDING BELAIRE AND ADMINISTRATORS		BILLABLE		1	0/13/2020		0.2			\$550.00		\$110.00		JAY		
		• Analysis/Strategy CASE REVIEW WITH J. YOUNG AND UPDATE CASE PLAN.		BILLABLE		1	0/13/2020		0.1			\$750.00		\$75.00		ARS		
		• Communicate (with client) PROVIDE CLIENT UPDATE VIA J. ROBLES		BILLABLE		1	0/12/2020		0.1			\$550.00		\$55.00		JAY		

Panther - Ani	ita Trejo   Trejo v. Lyneer St	9-cv-04132-DSF	E-JC Document	75-3 Filed 03/ #:1234	04/22 Page 30 o	f 75 Page II	)	
: ITEI	M	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
FOL	Settlement Low up with kjo Garding mou	BILLABLE	10/9/2020	0.1	\$550.00	\$55.00	JAY	
DRA	Settlement AFT MOU AND EMAIL TO KJO REVIEW	BILLABLE	10/2/2020	0.8	\$550.00	\$440.00	AY	
DISC STA	Analysis/Strategy CUSS CASE TUS/STRATEGY WITH A. USKY	BILLABLE	9/30/2020	0.1	\$550.00	\$55.00	JAY	
CAS	Analysis/Strategy E REVIEW WITH J. YOUNG D UPDATE CASE PLAN.	BILLABLE	9/30/2020	0.1	\$750.00	\$75.00	ARS	
EMA REG	Settlement AIL OPPOSING COUNSEL FARDING INITIAL DRAFT REEMENT	BILLABLE	9/25/2020	0.1	\$550.00	\$55.00	JAY	
FOL REG	Settlement LOW UP WITH MEDIATOR ARDING DRAFT SETTLEMENT REEMENT	BILLABLE	9/24/2020	0.1	\$550.00	\$55.00	YAL	
DISC	Analysis/Strategy CUSS CASE STRATEGY WITH ALUSKY	BILLABLE	9/18/2020	0.2	\$550.00	\$110.00	JAY	

PracticePanthe	er - Anita Trejo   Trejo v. Lyneer	2:19-cv-04132-D	SF-JC <sub>Class</sub> )ocument #	75-3 Filed 03 #:1235	/04/22 Page 31 o	f 75 Page ID	)	
0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	• Analysis/Strategy CASE REVIEW WITH J. YOUNG AND UPDATE CASE PLAN.	BILLABLE	9/18/2020	0.1	\$750.00	\$75.00	ARS	
	• Settlement REVIEW EMAIL FROM MEDIATO STEVEN SERRATORE.	R BILLABLE	9/17/2020	0.1	\$750.00	\$75.00	Кјо	
	Settlement REVIEW MEDIATOR'S EMAIL AN EMAIL KM/ASM	D BILLABLE	9/17/2020	0.1	\$550.00	\$55.00	JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT.	BILLABLE	9/16/2020	0.3	\$750.00	\$225.00	КЈО	
	Settlement REVIEW MEDIATOR'S PROPOSA	L. BILLABLE	9/10/2020	0.3	\$750.00	\$225.00	КЈО	
	• Analysis/Strategy EMAIL EXCHANGE WITH JOHN YOUNG REGARDING MEDIATOR'S PROPOSAL.	BILLABLE	9/10/2020	0.2	\$750.00	\$150.00	КЈО	
	• Settlement REVIEW MEDIATOR'S PROPOSA DISCUSS PROPOSAL WITH CLIENT AND NEXT STEPS IF IT IS ACCEPTED. SHE CONFIRMED ACCEPTANCE. EMAILED ACCEPTANCE TO MEDIATOR		9/10/2020	0.6	\$550.00	\$330.00	YAI	

Prac	ticePanthe	r - Anita Trejo   Trejo v. Lyneer S	19-cv-04132-DS	E - JC Documen	t 75-3 Filed 03/0 #:1236	4/22 Page 32 o	f 75 Page II	)	
	0 0 0	ITEM	STATUS	: DATE 🕹	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
		• Communicate (with client) RETURN CLIENT'S CALL AND ANSWER QUESTION ABOUT WORK WEEKS	BILLABLE	9/10/2020	0.1	\$550.00	\$55.00	JAY	
		• Communicate (with client) ASSIST WITH TRANSLATION FOR JAY.	NOT BILLABLE	9/10/2020	1	\$0.00	\$0.00	DA	
		Settlement FOLLOW UP WITH K. ODENBREIT AND EMAIL MEDIATOR REGARDING PROPOSAL	BILLABLE	9/9/2020	0.2	\$550.00	\$110.00	JAY	
		Communicate (with client) SPEAK WITH CLIENT AND PROVIDE UPDATE	BILLABLE	9/9/2020	0.3	\$550.00	\$165.00	JAY	
		• Settlement REVIEW EMAIL FROM MEDIATOR STEVE SERRATORE.	BILLABLE	9/4/2020	0.2	\$750.00	\$150.00	КЈО	
		• Settlement REVIEW/RESPOND TO EMAIL FROM JOHN YOUNG REGARDING SETTLEMENT.	BILLABLE	9/4/2020	0.2	\$750.00	\$150.00	KJO	

PracticePanthe	er - Anita Trejo   Trejo v. Lyneer S	19-cv-04132-DS	EF-JC <sub>Class</sub> )ocumen	t 75-3 Filed 03/ #:1237	/04/22 Page 33 o	of 75 Page IE	)	
0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY	0 0 0
	Analysis/Strategy TELEPHONE CALL WITH JOHN YOUNG REGARDING STRATEGY.	BILLABLE	9/4/2020	0.3	\$750.00	\$225.00	КЈО	
	• Settlement DISCUSS CASE STRATEGY WITH K. ODENBREIT AND LEAVE VOICEMAIL FOR MEDIATOR	BILLABLE	9/4/2020	0.3	\$550.00	\$165.00	JAY	
	• Settlement SPEAK WITH MEDIATATOR REGARDING DEFENDANTS' OFFER AND POTENTIAL RESOLUTION. DISCUSS STRATEGY WITH K. ODENBREIT	BILLABLE	9/4/2020	0.4	\$550.00	\$220.00	JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT NEGOTIATIONS.	BILLABLE	9/4/2020	0.3	\$750.00	\$225.00	Кјо	
	• Settlement EMAIL K. ODENBREIT REGARDING SERRATORE FOLLOWING UP WITH DEFENDANT	BILLABLE	9/1/2020	0.1	\$550.00	\$55.00	JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING SETTLEMENT COUNTER-OFFER.	BILLABLE	9/1/2020	0.4	\$750.00	\$300.00	KJO	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer 2:19-cv-04132-DSF-JC, Document 75-3 Filed 03/04/22 Page 34 of 75 Page ID #:1238

0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	• Settlement DISCUSS STRATEGY WITH K. ODENBREIT AND EMAIL MEDIATOR	BILLABLE	9/1/2020	0.2	\$550.00	\$110.00	JAY	
	• Experts/Consultants TELEPHONE CALL WITH JAMES TONEY REGARDING DAMAGE ANALYSIS.	BILLABLE	8/26/2020	0.5	\$750.00	\$375.00	КЈО	
	• Settlement ATTEND MEDIATION WITH STEVE SERRATORE	BILLABLE	8/26/2020	8.7	\$550.00	\$4,785.00	JAY	
	• Settlement MEDIATION WITH STEVEN SERRATORE.	BILLABLE	8/26/2020	8.7	\$750.00	\$6,525.00	КЈО	
	• Settlement Follow up Email TO OPPOSING COUNSEL FOR ADDITIONAL PAYROLL RECORDS EMAIL JT FOR DAMAGE ANALYSIS		8/25/2020	0.2	\$550.00	\$110.00	JAY	
	• Settlement TELEPHONE CALL WITH JOHN YOUNG REGARDING MEDIATION	BILLABLE	8/25/2020	0.5	\$750.00	\$375.00	КЈО	
	• Settlement REVIEW/RESPOND TO EMAIL FROM MEDIATOR STEVEN SERRATORE.	BILLABLE	8/25/2020	0.2	\$750.00	\$150.00	κιο	

anther	- Anita Trejo   Trejo v. Lyneer 2	19-cv-04132-D	SF-JC, Document	t 75-3 Filed 03/ #:1239	04/22 Page 35 c	of 75 Page ID	)
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY
	• Settlement REVIEW AND REVISE MEDIATION BRIEF. RESEARCH 203 CLAIM. EMAIL OPPOSING COUNSEL REGARDING INFORMAL DISCOVERY	BILLABLE	8/21/2020	2.1	\$550.00	\$1,155.00	YAY
	• Analysis/Strategy TELEPHONE CALL WITH JOHN YOUNG REGARDING MEDIATION STRATEGY.	BILLABLE	8/21/2020	0.4	\$750.00	\$300.00	КІО
	Communicate (with client) CALL CLIENT TO ASK IF SHE PREFERS TO APPEAR VIA ZOOM THROUGHOUT THE ENTIRETY OF MEDIATION OR WHETHER SHE PREFERS TO BE CONFERENCE IN WHEN THE MEDIATOR IS PRESENT. CLIENTS PREFERS TO BE CONFERENCE IN. LET JAY KNOW AND REACH OUT TO ADRIANA TO ARRANGE A TRANSLATOR.		8/19/2020	0.2	\$185.00	\$37.00	GG
	Analysis/Strategy REVIEW DISCOVERY RESPONSES IN PREPARATION FOR MEDIATION	BILLABLE	8/18/2020	1.2	\$550.00	\$660.00	YAL

PracticePanthe	r - Anita Trejo   Trejo v. Lyneer St	19-cv-04132-DS	E-JC Document	t 75-3 Filed 03/ #:1240	04/22 Page 36 o	f 75 Page ID	)	
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	• Settlement REVIEW INFORMAL DISCOVERY AND INITATE DRAFTING MEDIATION BRIEF.	BILLABLE	8/17/2020	0.6	\$550.00	\$330.00	JAY	
	Settlement EMAIL EXCHANGE WITH JOHN YOUNG REGARDING MEDIATION.	BILLABLE	8/12/2020	0.2	\$750.00	\$150.00	КЈО	
	Settlement DRAFT EMAIL TO DAN CHAMMAS AND STACEY COOPER REGARDING MEDIATION DATA.	BILLABLE	8/12/2020	0.2	\$750.00	\$150.00	КЈО	
	Class Action Certification and Notice DRAFT MEDIATION LETTER AND DISCLOSURE FORM AND SEND TO CLIENT VIA DOCUSIGN. CALL CLIENT TO LET HER KNOW ABOUT UPCOMING MEDIATION AND TO SIGN MEDIATION DISCOSURE FORM.	BILLABLE	8/12/2020	0.5	\$185.00	\$92.50	GG	
	• Analysis/Strategy APPLY MEDIATION WORKFLOW AND UPDATE TASKS.	BILLABLE	8/12/2020	0.3	\$185.00	\$55.50	GG	
	• Communicate (with client) ANSWER CALL FROM CLIENT RE DOCUMENTS SENT	NOT BILLABLE	8/12/2020	0.1	\$0.00	\$0.00	SM	

Panther	r - Anita Trejo   Trejo v. Lyneer st	19-cv-04132-DS	EF-JC <sub>Class</sub> ocument	75-3 Filed 03/ #:1241	04/22 Page 37 o	f 75 Page II	)	
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	Communicate (with client) TAKE CLIENT'S CALL AND EXPLAIN HOW TO ACCESS/SIGN DOCUMENT SENT THROUGH DocuSign.	BILLABLE	8/12/2020	0.2	\$185.00	\$37.00	GG	
	• Analysis/Strategy TELECONFERENCE FILE REVIEW WITH JAY; UPDATE PP WITH CASE STATUS AND NEXT STEPS	BILLABLE	7/29/2020	0.2	\$650.00	\$130.00	GBS	
	• Written Discovery EMAIL OPPOSING COUNSEL REGARDING INFORMAL DISCOVERY	BILLABLE	7/21/2020	0.1	\$550.00	\$55.00	JAY	
	Court Mandated Conferences REVIEW DRAFT JOINT STATEMENT AND EMAIL OPPOSING COUNSEL	BILLABLE	7/1/2020	0.2	\$550.00	\$110.00	JAY	
	• Analysis/Strategy CONFERENCE WITH JOHN YOUNG REGARDING STATUS AND STRATEGY.	BILLABLE	6/30/2020	0.2	\$750.00	\$150.00	КЈО	
	Settlement DRAFT EMAIL TO DANIEL CHAMMAS REGARDING INFORMAL DISCOVERY FOR MEDIATION.	BILLABLE	6/24/2020	0.2	\$750.00	\$150.00	КЈО	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 38 of 75 Page ID #:1242

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY
	• Analysis/Strategy TELEPHONE CONFERENCE WITH JOHN YOUNG REGARDING STATUS AND STRATEGY.	BILLABLE	5/13/2020	0.2	\$750.00	\$150.00	Кјо
	Analysis/Strategy DISCUSS CASE STRATEGY WITH K. ODENBREIT.	BILLABLE	5/13/2020	0.2	\$550.00	\$110.00	JAY
	• Written Discovery SEND OPPOSING COUNSEL EMAIL REGARDING DATE INFORMAL DISCOVERY WILL BE PRODUCED.	BILLABLE	5/4/2020	0.1	\$550.00	\$55.00	JAY
	Settlement EMAIL EXCHANGE WITH JOHN YOUNG REGARDING MEDIATION.	BILLABLE	4/14/2020	0.2	\$750.00	\$150.00	КЈО
	• Settlement EMAIL WITH KJO REGARDING MEDIATION. EMAIL OPPOSING COUNSEL REGARDING INFORMAL DISCOVERY NEEDED PRIOR TO MEDIATION	BILLABLE	4/14/2020	0.2	\$550.00	\$110.00	JAY
	• Analysis/Strategy CASE REVIEW WITH J. YOUNG.	BILLABLE	4/1/2020	0.1	\$750.00	\$75.00	ARS

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 39 of 75 Page ID #:1243

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	
	Class Action Certification and Notice REVIEW STIPULATION TO MODIFY SCHEDULING ORDER.	BILLABLE	3/2/2020	0.5	\$750.00	\$375.00	КЈО	
	Class Action Certification and Notice DRAFT EMAIL TO DEFENDANTS' COUNSEL REGARDING STIPULATION TO MODIFY SCHEDULING ORDER.	BILLABLE	3/2/2020	0.1	\$750.00	\$75.00	Кјо	
	• Settlement DRAFT EMAIL TO STACEY COOPER AND DANIEL CHAMMAS REGARDING EMPLOYERS HR PARTICIPATION IN MEDIATION.	5 BILLABLE	2/20/2020	0.2	\$750.00	\$150.00	KJO	
	Settlement REVIEW/RESPOND TO EMAIL FROM DANIEL CHAMMAS REGARDING MEDIATION.	BILLABLE	2/12/2020	0.2	\$750.00	\$150.00	КЈО	
	Settlement DRAFT EMAIL TO TAMAR WITH STEVEN SERRATORE'S OFFICE REGARDING MEDIATION.	BILLABLE	2/11/2020	0.2	\$750.00	\$150.00	КЈО	
	• Written Discovery DRAFT BELAIRE WEST NOTICE	BILLABLE	2/11/2020	0.6	\$550.00	\$330.00	JAY	

PracticePanthe	er - Anita Trejo   Trejo v. Lyneer	2:19-cv-04132-DS	F-JC Documen	t 75-3 Filed 03/0 #:1244	04/22 Page 40 of	75 Page IE	)	
0 0 0	ITEM	STATUS	: DATE ↓	; HRS.	: RATE	TOTAL	BILLED BY	0 0 0
	• Written Discovery REVIEW/REVISE PROPOSED BELAIRE NOTICE.	BILLABLE	2/11/2020	0.4	\$750.00	\$300.00	КЈО	
	• Written Discovery REVIEW/RESPOND TO EMAIL FROM JOHN YOUNG.	BILLABLE	2/11/2020	0.2	\$750.00	\$150.00	Кјо	
	Settlement DRAFT EMAIL TO DEFENDANTS COUNSEL REGARDING MEDIATOR PROPOSAL.	BILLABLE	2/10/2020	0.1	\$750.00	\$75.00	KJO	
	• Analysis/Strategy REVIEW CASE FILE AND UPDATE PRACTICE PANTHER.	E BILLABLE	2/3/2020	0.2	\$550.00	\$110.00	AP	
	Court Mandated Conferences FINALIZE FURTHER STATEMENT RE ADEQUACY OF CLASS COUNSEL.	T BILLABLE	1/27/2020	1	\$750.00	\$750.00	КЈО	
	Court Mandated Conferences DRAFT FURTHER STATEMENT R ADEQUACY OF COUNSEL PURSUANT TO COURT ORDER.		1/26/2020	2.4	\$750.00	\$1,800.00	КЈО	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Staffing Solutions, LLC, et al. (Class) Filed 03/04/22 Page 41 of 75 Page ID #:1245

ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
• Analysis/Strategy REVIEW CASE FILE. UPDATE PF FOLLOW UP WITH OPPOSING COUNSEL REGARDING MEDIATION.		1/26/2020	0.8	\$550.00	\$440.00	AP	
Court Mandated Conferences DRAFT FURTHER STATEMENT ADEQUACY OF COUNSEL PURSUANT TO COURT ORDER		1/25/2020	6.2	\$750.00	\$4,650.00	KJO	

#### Depositions

All work concerning including determin deponents and the sequence of depos preparing deposition subpoenas, commu opposing or other counsel on schedu logistics, planning preparing to take t depositions, discus deposition strategy witnesses, reviewir for deposition prep attending depositions, and drafting any deposition summaries.

S							
ing depositions,							
ining the							
ne timing and							
ositions,							
tion notices and							
municating with							
r party's							
duling and		1/24/2020			*770.00		
g for and	BILLABLE	1/24/2020	1.4	\$550.00	\$770.00	AP	
e the							
ussing							
gy, preparing							
ving documents							
eparation,							
tions, and							

PracticePanthe	r - Anita Trejo   Trejo v. Lyneer	2:19-cv-04132-DS Staffing Solutions, LEC,	F-JC <sub>lass</sub> Document #	75-3 Filed 03 #1246	/04/22 Page 42 of	75 Page IE	)	
0 0 0	ITEM	: STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	• Analysis/Strategy MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING STATU OF CASE.	BILLABLE	1/24/2020	0.3	\$550.00	\$165.00	AP	
	• Analysis/Strategy MEET AND CONFER SENIOR ATTORNEY K. ODENBREIT REGARDING STATUS OF CASE.	BILLABLE	1/7/2020	0.3	\$550.00	\$165.00	ΑΡ	
	Pleadings CALENDAR DEADLINES RE CLAS ACTION STATEMENT.	SBILLABLE	12/27/2019	0.1	\$175.00	\$17.50	GDM	
	• Dispositive Motions REVIEW OF COURT'S ORDER REGARDING DENIAL OF LEAVE TO AMEND COMPLAINT. MEET AND CONFER WITH COLLEAGUE N. PIERSON AND SENIOR ATTORNEYS K. ODENBREIT AND K. MAHONEY REGARDING THE SAME.		12/26/2019	0.3	\$550.00	\$165.00	AP	
	• Dispositive Motions MEET AND CONFER WITH COLLEAGUE D. MARTINEZ REGARDING STATUS OF REPLY TO DEFENDANT'S OPPOSITION TO LEAVE TO AMEND COMPLAINT.	BILLABLE	12/23/2019	0.2	\$550.00	\$110.00	AP	

Prac	ticePanther	- Anita Trejo   Trejo v. Lyneer	2:19-CV-04132-D Starfing Solutions, LLC	SF-JC <sub>Class</sub> ocument #	75-3 Filed 03/ :1247	/04/22 Page 43 of	f 75 Page ID		
	0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	: TOTAL	BILLED BY	0 0 0
		• Dispositive Motions FINALIZE REPLY TO DEFENDANT'S OPPOSITION TO PLAINTIFF'S MOTION FOR LEAVE TO AMEND COMPLAINT.	BILLABLE	12/23/2019	3.9	\$550.00	\$2,145.00	AP	
		• Dispositive Motions REVIEW DEFENDANT'S OPPOSITION TO PLAINTIFF'S MOTIN FOR LEAVE TO FILE SECOND AMENDED COMPLAINT RESEARCH CASE LAW IN SUPPORT OF PLAINTIFF'S MOTION.	T. BILLABLE	12/22/2019	2.7	\$550.00	\$1,485.00	AP	
		• Depositions COMMUNICATION WITH DEFENSE COUNSELS REGARDIN SCHEDULING OF DAY 2 OF PLAINTIFF'S DEPOSITION.	IG BILLABLE	12/18/2019	0	\$550.00	\$0.00	AP	
		• Analysis/Strategy COMMUNICATION WITH DEFENSE COUNSEL REGARDING SCHEDULING OF MEDIATION.	BILLABLE	12/10/2019	0.1	\$550.00	\$55.00	AP	
		• Analysis/Strategy MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING STATU OF CASE.	BILLABLE	12/5/2019	0.4	\$550.00	\$220.00	AP	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Stanling Solutions, LLC, et al. (Class) ocument 75-3 Filed 03/04/22 Page 44 of 75 Page ID #:1248 : STATUS : ITEM : DATE 🕹 : HRS. : RATE : TOTAL : BILLED BY Dispositive Motions DRAFT MOTION FOR LEAVE TO (AP) 3.3 \$550.00 \$1,815.00 12/2/2019 FILE SECOND AMENDED COMPLAINT. Pleadings MEET AND CONFER WITH AP 11/27/2019 0.1 \$550.00 \$55.00 SENIOR ATTORNEY K. ODENBREIT REGARDING FIRST AMENDED COMPLAINT. Pleadings DRAFT SECOND AMENDED COMPLAINT. MEET AND CONFER WITH OPPOSING COUNSEL AP 11/27/2019 2.1 \$550.00 \$1,155.00 REGARDING AMENDED COMPLAINT AND MOTION FOR LEAVE TO FILE A SECOND AMENDED COMPLAINT. Pleadings SEND EMAIL TO A. PEREZ AND K. GDM 11/22/2019 0.1 \$175.00 \$17.50 ODENBREIT RE: LAST DAY TO AMEND PLEADINGS. Analysis/Strategy MEET AND CONFER WITH AP COLLEAGUE D. MARTINEZ 11/15/2019 0.2 \$550.00 \$110.00 REGARDING STATUS OF DEPOSITION

PracticePanthe	r - Anita Trejo   Trejo v. Lyneer	<b>:19-cv-04132-DS</b>	F-JC Document	75-3 Filed 03 #:1249	/04/22 Page 45 of	75 Page ID	)	
0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	• Depositions PREPARE REIMBURSEMENT RELATED TO DEPOSITION ATTENDANCE.	BILLABLE	11/15/2019	0.3	\$550.00	\$165.00	AP	
	• Depositions PROVIDE STATUS UPDATE TO SENIOR ATTORNEYS K. MAHONEY AND K. ODENBREIT REGARDING STATUS OF PLAINTIFF'S DEPOSITION.	BILLABLE	11/15/2019	0.8	\$550.00	\$440.00	AP	
	• Depositions DEFENDING PLAINTIFF'S DEPOSITION.	BILLABLE	11/14/2019	9.5	\$550.00	\$5,225.00	AP	
	• Written Discovery FORMAT AND SERVE PLAINTIFF' SECOND SUPPLEMENTAL RESPONSES TO REQUEST FOR PRODUCTION OF DOCUMENTS.	BILLABLE	11/13/2019	0.3	\$175.00	\$52.50	GDM	
	• Depositions PREPARATION FOR DEFENDING PLAINTIFF'S DEPOSITION.	BILLABLE	11/13/2019	0.4	\$550.00	\$220.00	ΑΡ	
	Depositions DEPOSITION PREP WITH CLIENT	BILLABLE	11/12/2019	2.2	\$550.00	\$1,210.00	AP	
	• Written Discovery DRAFT SUPPLEMENTAL RPD RESPONSE.	BILLABLE	11/12/2019	0.9	\$550.00	\$495.00	AP	

PracticePanther - Anita Trejo   Trejo v. Lyne	e 2:19-cv-04132-DC	SF-JC Class) #	75-3 Filed 03 #:1250	/04/22 Page 46 of	75 Page II	D	
: ITEM	STATUS	: DATE ↓	: HRS.	: RATE	TOTAL	BILLED BY	0 0 0
Depositions DEPO PREP WITH PLAINTIFF	BILLABLE	11/8/2019	1.8	\$550.00	\$990.00	AP	
• <b>Depositions</b> COMMUNICATION WITH DEFENSE COUNSEL REGARE PLAINTIFF'S DEPOSITION.	DING	11/6/2019	0.1	\$550.00	\$55.00	AP	
• Depositions DEPO PREP WITH CLIENT.	BILLABLE	11/4/2019	1.5	\$550.00	\$825.00	AP	
• Analysis/Strategy MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING ST/ FO CASE.	BILLABLE	11/4/2019	0.3	\$550.00	\$165.00	AP	
• Depositions COMMUNICATION WITH DEFENSE COUNSELS TO SCHEDULE PMQ DEPOSITIO DATE.	BILLABLE	11/2/2019	0.2	\$550.00	\$110.00	AP	
Communicate (with client) CALL MS. TREJO AND SCHED HER TO COME PREP FOR DEPOSITION.		10/28/2019	0.2	\$175.00	\$35.00	WR	
Depositions CALENDAR DEPOSITION PRE DATES WITH CLIENT.	EP BILLABLE	10/28/2019	0.1	\$175.00	\$17.50	GDM	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 47 of 75 Page ID #:1251

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	: RATE	: TOTAL	BILLED BY	0 0 0
	• Depositions MEET AND CONFER WITH COLLEAGUE D. MARTINEZ REGARDING STATUS OF DEPOSITION NOTICES.	BILLABLE	10/18/2019	0.1	\$550.00	\$55.00	AP	
	• Written Discovery REVIEW/RESPOND TO EMAIL FROM ALEX PEREZ REGARDING EMPLOYERS HR DISCOVERY RESPONSES.	BILLABLE	10/17/2019	0.2	\$750.00	\$150.00	Kjo	
	• Written Discovery MEET AND CONFER WITH OPPOSING COUNSEL REGARDING OUTSTANDING DISCOVERY.	BILLABLE	10/17/2019	0.3	\$550.00	\$165.00	AP	
	• Written Discovery FOLLOW UP WITH OPPOSING COUNSEL REGARDING STATUS OF DISCOVERY RESPONSES, SE 1.		10/16/2019	0.3	\$550.00	\$165.00	AP	
	• Written Discovery REVIEW WRITTEN DISCOVERY RESPONSES FROM LYNEER AND CIERA STAFFING.	DBILLABLE	10/16/2019	0.8	\$750.00	\$600.00	KJO	

PracticePanther - Anita Trejo   Trejo v. Lyneer St	19-cv-04132-DS	F-JC <sub>lass</sub> Document	75-3 Filed 03/ #:1252	/04/22 Page 48 of	75 Page ID		
: ITEM :	STATUS	: DATE ↓	; HRS.	: RATE	: TOTAL	BILLED BY	0 0 0
• Written Discovery MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING DEFENDANT'S RESPONSES.	BILLABLE	10/16/2019	0.4	\$550.00	\$220.00	AP	
• Depositions CALENDAR DEADLINES RE PLAINTIFF'S DEPOSITION.	BILLABLE	10/15/2019	0.1	\$175.00	\$17.50	GDM	
• Depositions DRAFT PMQ DEPO NOTICE TO LYNEER STAFFING	BILLABLE	10/14/2019	1.1	\$550.00	\$605.00	AP	
Depositions DRAFT PMQ DEPO NOTICES FOR DEFENDANTS YUSEN, EMPLOYERS HR, AND CIERA STAFFING	BILLABLE	10/14/2019	1.3	\$550.00	\$715.00	AP	
► Analysis/Strategy LEGAL RESEARCH REGARDING MOTIONS TO STAY STATE PAGA CASE WHEN FEDERAL CLASS ACTION IS ALREADY PENDING. SENT RESULTS OF RESEARCH TO AP.	BILLABLE	10/11/2019	2.4	\$500.00	\$1,200.00	ESS	
• Depositions COMMUNICATION WITH DEFENDANTS REGARDING PROPOSED DEPOSITION DATES.	BILLABLE	10/11/2019	0.2	\$550.00	\$110.00	AP	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer 2:19-cv-04132-DSF-JC, Document 75-3 Filed 03/04/22 Page 49 of 75 Page ID #:1253

			··· ± =					
0 0	• Analysis/Strategy REVIEW MOTION TO STAY FILED BY DEFENDANTS. PERFORM LEGAL RESEARCH REGARDING MOTIONS TO STAY STATE PAGA CASE WHEN FEDERAL CLASS ACTION IS ALREADY PENDING. TELEPHONE CALL TO AP TO DISCUSS RESEARCH RESULTS. WROTE UP AND EMAIL RESULTS	STATUS	: DATE ↓ 10/10/2019	HRS.	* RATE *	TOTAL :	BILLED BY	0 0 0 0
	<ul> <li>OF RESEARCH TO AP.</li> <li>Analysis/Strategy</li> <li>CONFER INTERNALLY WITH A.</li> <li>PEREZ RE: PAGA RESEARCH.</li> </ul>	BILLABLE	10/9/2019	0.1	\$550.00	\$55.00	DH	
	• Analysis/Strategy MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING STATUS OF CASE.	BILLABLE	10/3/2019	0.5	\$550.00	\$275.00	AP	
	• Discovery Motions Developing, responding to, and arguing all motions that arise out of the discovery process. Includes the protective order process.	BILLABLE	10/3/2019	0.2	\$550.00	\$110.00	AP	
	• Written Discovery MEET AND CONFER WITH DEFENSE COUNSEL REGARDING DISCOVERY DEADLINES.	BILLABLE	10/3/2019	0.2	\$550.00	\$110.00	AP	

anthe	r - Anita Trejo   Trejo v. Lyneer 25	19-CV-04132-E	2 <b>SF-JC</b> C, et al. (Class)	t 75-3 Filed 03/ #:1254	/04/22 Page 50 o	f 75 Page II	)
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY
	• Analysis/Strategy PHONE CALL WITH MS. TREJO DISCUSSING STATUS OF CASE.	BILLABLE	10/2/2019	0.2	\$550.00	\$110.00	AP
	• Depositions SCHEDULING OF PLAINTIFF DEPOSITION.	BILLABLE	9/30/2019	0.1	\$550.00	\$55.00	AP
	• Depositions DRAFT OBJECTION TO PLAINTIFF'S DEPOSITION. MEET AND CONFER WITH DEFENSE COUNSEL REGARDING THE SAME.	BILLABLE	9/27/2019	1	\$550.00	\$550.00	AP
	• Written Discovery PREPARING SUPPLEMENTAL DOCUMENT PRODUCTION TO BE SENT TO OPPOSING COUNSELS.	BILLABLE	9/27/2019	0.3	\$550.00	\$165.00	AP
	• Depositions SERVE OBJECTION TO PLAINTIFF'S DEPOSITION BY MAIL.	BILLABLE	9/27/2019	0.2	\$175.00	\$35.00	GDM
	Depositions SEND REMINDER TO KJO RE DEPOSITION NEXT WEEK.	BILLABLE	9/26/2019	0.1	\$175.00	\$17.50	SMB

ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0 0
• Court Mandated Conferences MEET AND CONFER WITH DEFENSE COUNSEL REGARDING COURT'S ORDER TO ATTEND PRIVATE MEDIATION.	G	BILLABLE		9/24/2019		0.2		\$550.00		\$110.00		ΑΡ	
• Document Production MEET AND CONFER WITH CLASS MEMBER ANITA TREJO REGARDING DOCUMENT PRODUCTION.		BILLABLE		9/23/2019		0.1		\$550.00		\$55.00		AP	
• Written Discovery DRAFT PLAINTIFF'S INITIAL DISCLOSURES.		BILLABLE		9/23/2019		1.4		\$550.00		\$770.00		AP	
Pleadings FORMAT AND SERVE INITIAL DISCLOSURES.		BILLABLE		9/23/2019		0.3		\$175.00		\$52.50		GDM	
• Discovery Motions REVIEW OF DOCUMENTS PROVIDED BY CLIENT. PREPARING DOCUMENTS FOR RESPONSE TO RPD, SET 1. BATE STAMP AND REDACTING DOCUMENTS.	E	BILLABLE		9/19/2019		1.6		\$550.00		\$880.00		AP	
• Written Discovery FOLLOW UP WITH A. PEREZ RE DEFENDANTS DISCOVERY RESPONSES.		BILLABLE		9/18/2019		0.1		\$175.00		\$17.50		GDM	

PracticePanthe	r - Anita Trejo   Trejo v. Lyneer st	19-cv-04132-DS	F-JC Document	75-3 Filed 03/ #:1256	04/22 Page 52 of	75 Page II	)	
0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	• Discovery Motions MEET AND CONFER WITH COLLEAGUE D. MARTINEZ REGARDING STATUS OF DISCOVERY RESPONSES.	BILLABLE	9/17/2019	0.3	\$550.00	\$165.00	AP	
	• Discovery Motions MEET AND CONFER WITH CLIENT REGARDING DOCUMENT PRODUCTION.	BILLABLE	9/17/2019	0.3	\$550.00	\$165.00	AP	
	• Discovery Motions DRAFT SUPPLEMENTAL DISCOVERY RESPONSES TO SET ONE, REQUEST FOR PRODUCTION.	BILLABLE	9/17/2019	0.5	\$550.00	\$275.00	AP	
	• Discovery Motions PHONE CALL WITH MS. TREJO DISCUSSING DOCUMENTS RESPONSIVE TO REQUEST FOR PRODUCTION, SET 1.	BILLABLE	9/17/2019	0.2	\$550.00	\$110.00	AP	
	• Depositions REVIEW EMAIL FROM DANIEL CHAMMAS REGARDING PLAINTIFF DEPOSITION.	BILLABLE	9/16/2019	0.1	\$750.00	\$75.00	KIO	
	• Written Discovery DRAFT EMAIL TO ALEXANDER PEREZ AND DANIEL MARTINEZ REGARDING DISCOVERY RESPONSES.	BILLABLE	9/16/2019	0.2	\$750.00	\$150.00	KIO	

Pra	cticePanther	- Anita Trejo   Trejo v. Lyneer	2:19-cv-041 Starring Solutio	32-DSF-JC	Class) ocume	ent 75-3 #:125	Filed ( 7	)3/04/22	Page 53	3 of 75	Page ID	)		
	0 0 0	ITEM	STATUS	0 0 0	DATE ↓	0 0 0	HRS.		RATE	0 0 0	TOTAL	0 0 0	BILLED BY	0 0 0
		• Discovery Motions PHONE CALL WITH CLIENT DISCUSSING REQUEST FOR PRODUCTION DISCOVERY RESPONSE.	BILLABI	E	9/16/2019		0.5		\$550.00	S	\$275.00		AP	
		• Depositions MEET AND CONFER WITH COLLEAGUES D. MARTINEZ AND N. PIERSON REGARDING OBJECTION TO DEPOSITION OF PLAINTIFF. DRAFT OBJECTION T DEPOSITION OF PLAINTIFF AND FINALIZE FOR SERVICES.	BILLABI	E	9/16/2019		1.5		\$550.00	5	\$825.00		AP	
		• Discovery Motions DRAFT RESPONSES TO REQUES FOR PRODUCTION OF DOCUMENTS, SET 1.	BILLABI	E	9/16/2019		3.7		\$550.00	S	\$2,035.00		AP	
		• Analysis/Strategy MEET AND CONFER REGARDING CASE STATUS WITH SENIOR ATTORNEY A. MAHONEY.	G BILLABI	E	9/13/2019		0.2		\$550.00	S	\$110.00		AP	
		Class Action Certification and Notice FINALIZE RESPONSE TO OSC RE ADEQUACY OF COUNSEL.	BILLABI	E	9/10/2019		0.8		\$750.00	S	\$600.00		Кјо	

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	▶ Pleadings FINALIZE DEC REGARDING ADEQUACY OF CLASS COUNSEL WITH COLLEAGUE S. BOX AND SENIOR ATTORNE K. ODENBREIT		9/10/2019	0.2	\$550.00	\$110.00	AP	
	• Pleadings FINALIZED, FILED AND SERVED RESPONSE TO OSC.	BILLABLE	9/10/2019	1.9	\$175.00	\$332.50	SMB	
	Pleadings FINALIZE CASE LISTING FOR DECLARATION REGARDING ADEQUACY OF CLASS COUNSEL.	BILLABLE	9/10/2019	1.5	\$550.00	\$825.00	AP	
	Class Action Certification and Notice DRAFT RESPONSE TO OSC RE ADEQUACY OF COUNSEL.	BILLABLE	9/9/2019	4.2	\$750.00	\$3,150.00	КЈО	
	Pleadings DRAFTING CASE EXCERPTS FOR DECLARATION OF ADEQUACY OF CLASS COUNSEL.	F	9/9/2019	3	\$550.00	\$1,650.00	AP	
	Pleadings RESEARCH ON CLASS CASES FOR DECLARATION RE ADEQUACY OF COUNSEL.	BILLARIE	9/9/2019	1.4	\$550.00	\$770.00	AP	

ePanther - Anita Trej	o   Trejo v. Lyneers	19-cv-04132-D	SF-JC <sub>Class</sub> )ocument #	75-3 Filed 03/0 1259	04/22 Page 55 of	75 Page II	D	
: ITEM	:	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
	DECLARATION OF LISTING OF 25	BILLABLE	9/9/2019	2.7	\$550.00	\$1,485.00	AP	
PHONE CAL YUSEN LOG DISCOVERY	<b>ery Motions</b> L WITH OPC FOR ISTICS DISCUSSING RESPONSES, EARLY , AND STATUS OF	BILLABLE	9/6/2019	0.5	\$550.00	\$275.00	AP	
OPPOSING	CONFER WITH COUNSEL DISCOVERY	BILLABLE	9/6/2019	0.5	\$550.00	\$275.00	AP	
-	n Discovery NEW DISCOVERY	BILLABLE	9/6/2019	0.1	\$175.00	\$17.50	GDM	
PEREZ AND	n <b>gs</b> . TO K. MAHONEY, A. K. ODENBRIET RE SHOW CAUSE.	BILLABLE	9/4/2019	0.1	\$175.00	\$17.50	GDM	
SENT EMAIL	<b>Discovery</b> . To K. MAHONEY, A. K. ODENBREIT RE DISCOVERY	BILLABLE	9/4/2019	0.1	\$175.00	\$17.50	GDM	

Practice	Panther	- Anita Trejo   Trejo v. Lyneers	:19-cv-04132-D	SE-JC <sub>Class</sub> )ocument	: 75-3 Filed 03/0 #:1260	04/22 Page 56 of	75 Page ID	)	
	0 0 0	ITEM	: STATUS	: DATE ↓	HRS.	: RATE	TOTAL	BILLED BY	0 0 0
		• Pleadings REVIEW OF COURT'S MINUTE ORDERS AND DEADLINES	BILLABLE	8/22/2019	0.2	\$550.00	\$110.00	AP	
		• Pleadings DRAFT FIRST AMENDED COMPLAINT. MEET AND CONFEF WITH SENIOR ATTORNEY K. ODENBREIT REGARDING THE SAME.	R BILLABLE	8/22/2019	1.9	\$550.00	\$1,045.00	AP	
		<b>• Time</b> FORMAT AND SERVE FIRST AMENDED COMPLAINT.	BILLABLE	8/22/2019	0.6	\$175.00	\$105.00	GDM	
		• Pleadings REVISING AND DRAFTING FIRST AMENDED COMPLAINT.	BILLABLE	8/21/2019	0.6	\$550.00	\$330.00	AP	
		• Trial and Hearing Attendance COURT APPEARANCE: SCHEDULING CONFERENCE, JUDGE DALE FISCHER.	BILLABLE	8/19/2019	3.8	\$750.00	\$2,850.00	КЈО	
		• Depositions SEND EMAIL TO A. PEREZ AND K ODENBREIT RE DEPOSITION NOTICES.	BILLABLE	8/16/2019	0.1	\$175.00	\$17.50	GDM	

ePanther - Anita Trejo   Trejo v. Lyneer	2:19-cv-04132-D rstaffing Solutions, LLC;	SE-JC Documen	t 75-3 Filed 03/ #:1261	/04/22 Page 57 c	of 75 Page II	)	
: ITEM	STATUS	: DATE ↓	HRS.	RATE	TOTAL	BILLED BY	0 0 0
• Depositions Calendar PMQ deposition NOTICE DEADLINES.	BILLABLE	8/16/2019	0.1	\$175.00	\$17.50	GDM	
• Pleadings PREPARE BINDER RE SCHEDULING CONFERENCE.	BILLABLE	8/16/2019	0.3	\$175.00	\$52.50	GDM	
• Settlement CALENDAR DEADLINES RE MOTION FOR CLASS CERTIFICATION.	BILLABLE	8/15/2019	0.1	\$175.00	\$17.50	GDM	
• Analysis/Strategy REVIEW COURT'S OSC RE ADEQUACY OF COUNSEL.	BILLABLE	8/15/2019	0.5	\$750.00	\$375.00	КЈО	
Class Action Certification and Notice REVIEW OF DEADLINES FOR CLASS CERT. MOTION.	BILLABLE	8/15/2019	0.1	\$550.00	\$55.00	AP	
• Pleadings REVIEW CORRESPONDENCE FROM ATTORNEY CLAIMING T REPRESENT EMPLOYERS HR.	TO BILLABLE	8/15/2019	0.3	\$750.00	\$225.00	KJO	
Pleadings TELEPHONE CALL TO VIVIAN ELIAS RE HR EMPLOYERS.	BILLABLE	8/15/2019	0.1	\$750.00	\$75.00	КЈО	

Pra	cticePanther	- Anita Trejo   Trejo v. Lyneer	<b>19-CV-04132-DS</b>	F-JC Document	t 75-3 Filed 03/0 #:1262	04/22 Page 58 of	75 Page II	)	
	0 0 0	ITEM	: STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY	0 0 0
		• Written Discovery CALENDAR DEADLINES RE PLAINTIFF'S RESPONSES TO DISCOVERY.	BILLABLE	8/15/2019	0.1	\$175.00	\$17.50	GDM	
		• Written Discovery CALENDAR DEADLINES RE DEFENDANT'S RESPONSES TO DISCOVERY.	BILLABLE	8/14/2019	0.1	\$175.00	\$17.50	GDM	
		• Analysis/Strategy REVIEW ORDER TO SHOW CAUS RE: ADEQUACY OF CLASS COUNSEL.	EBILLABLE	8/14/2019	0.4	\$750.00	\$300.00	KJO	
		• Pleadings REVIEW OF COURT'S ORDER REGARDING ADEQUACY OF COUNSEL.	BILLABLE	8/14/2019	0.1	\$550.00	\$55.00	AP	
		• Written Discovery PREPARE & ORGANIZE INITIAL DISCOVERY TO GET SERVED BY PARALEGAL.	BILLABLE	8/13/2019	0.8	\$175.00	\$140.00	WR	
		• Written Discovery FORMAT AND SERVE WRITTEN DISCOVERY ON ALL FOUR DEFENDANTS.	BILLABLE	8/13/2019	2	\$175.00	\$350.00	GDM	

• • •	ITEM	STATUS	: DATE 🕹	HRS.	RATE	TOTAL	BILLED BY	0 0 0
	Class Action Certification and Notice REVIEW EMAIL EXCHANGE BETWEEN OPPOSING COUNSEL AND ALEXANDER PEREZ REGARDING STIPULATION TO EXTEND DEADLINE UNDER LOCAL RULE 23-3.	BILLABLE	8/12/2019	0.2	\$750.00	\$150.00	Кјо	
	Court Mandated Conferences REVIEW/RESPOND TO EMAIL FROM BIMALI WALGAMPAYA REGARDING INITIAL DISCLOSUR DATE.	BILLABLE	8/12/2019	0.2	\$750.00	\$150.00	КЮ	
	• Written Discovery CALENDAR DEADLINES RE RESPONSES TO DISCOVERY.	BILLABLE	8/12/2019	0.1	\$175.00	\$17.50	GDM	
	• Pleadings FINALIZE STIP TO CONTINUE CLASS CERT. DATE WITH OPPOSING COUNSEL BIMALI W.	BILLABLE	8/12/2019	0.1	\$550.00	\$55.00	AP	
	• Written Discovery REVIEW EMAILS FROM BIMALI WALGAMPAYA REGARDING INITIAL DISCLOSURE DATE.	BILLABLE	8/12/2019	0.2	\$750.00	\$150.00	KJO	

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0	BILLED BY
	• Court Mandated Conferences CONFERENCE WITH ALEXANDER PEREZ REGARDING RULE 26 REPORT.	R	BILLABLE		8/12/2019		0.2		\$750.00		\$150.00		КЈО
	• Discovery Motions DRAFT SET 2, INTERROGATORIE TO LYNEER, CIERA, YUSEN, AND EMPLOYERS HR.		BILLABLE		8/12/2019		1.6		\$550.00		\$880.00		AP
	• Pleadings FINALIZE RULE 26 REPORT WITH OPPOSING COUNSELS.	-1	BILLABLE		8/12/2019		0.6		\$550.00		\$330.00		AP
	• Discovery Motions REVIEW, DRAFT, AND REVISE REQUEST FOR PRODUCTION, SE 1 TO DEFENDANTS CIERA, YSUEN, LYNEER, AND EMPLOYERS HR.	ΞT	BILLABLE		8/12/2019		1.6		\$550.00		\$880.00		AP
	• Discovery Motions DRAFT REQUEST FOR ADMISSION, SET 1, TO DEFENDANTS CIERA, LYNEER, YUSEN, AND EMPLOYERS HR.		BILLABLE		8/12/2019		1.6		\$550.00		\$880.00		AP
	<b>Pleadings</b> DRAFT JURY DATES, EXHIBIT A.		BILLABLE		8/12/2019		0.8		\$550.00		\$440.00		AP

0 0	ITEM	: STA	ΓUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0	RATE	0	TOTAL	0 0 0	BILLED BY	0 0
	<ul> <li>Court Mandated</li> <li>Conferences</li> <li>REVIEW/RESPOND TO EMAILS</li> <li>FROM ALEXANDER PEREZ</li> <li>REGARDING PROPOSED</li> <li>SCHEDULING ORDER.</li> </ul>		BILLABLE		8/12/2019		0.2		\$750.00		\$150.00		KJO	
	• Court Mandated Conferences REVIEW DEFENDANT YUSEN'S REVISIONS TO JOINT RULE 26 REPORT.		BILLABLE		8/11/2019		0.5		\$750.00		\$375.00		Кјо	
	• Pleadings REVISED STIPULATION TO CONTINUE CLASS CERT. COMMUNICATION WITH DEFENSE COUNSELS REGARDIN THE SAME.		BILLABLE		8/10/2019		0.4		\$550.00		\$220.00		AP	
	Discovery Motions REVIEW AND REVISE, SROG, SET 2 TO DEFENDANT CIERA STAFFING.	Г	BILLABLE		8/10/2019		1.3		\$550.00		\$715.00		AP	
	• Discovery Motions MEET AND CONFER WITH COLLEAGUES D. MARTINEZ AND N. PIERSON.	D	BILLABLE		8/9/2019		0.4		\$550.00		\$220.00		AP	

Panther - Anita Trejo   Trejo v. Lyneer S	:19-cv-04132-D tailing Solutions, LEC,	SF-JC <sub>Class</sub> Documen	t 75-3 Filed 03/ #:1266	04/22 Page 62 of	75 Page II	)	
: ITEM	STATUS	: DATE ↓	HRS.	: RATE	TOTAL	BILLED BY	0 0 0
Pleadings REVIEW EMAIL EXCHANGE BETWEEN ALEXANDER PEREZ AND STACEY KENNEDY REGARDING PAGA COMPLAINT.	BILLABLE	8/9/2019	0.2	\$750.00	\$150.00	Kjo	
Analysis/Strategy PROVIDE STATUS UPDATE SENIOR ATTORNEY K. MAHONEY	BILLABLE	8/9/2019	0.2	\$550.00	\$110.00	AP	
• Analysis/Strategy EMAIL CORRESPONDENCE TO ALEX AND KATIE RE STIP AND INITIAL DISCOVERY.	BILLABLE	8/9/2019	0.2	\$450.00	\$90.00	CFA	
Class Action Certification and Notice REVISE DRAFT OF STIP TO CONTINUE CLASS CERT.	BILLABLE	8/9/2019	1.6	\$550.00	\$880.00	AP	
Discovery Motions DRAFT SET 1 DISCOVERY, SROG.	BILLABLE	8/9/2019	0.7	\$550.00	\$385.00	AP	
Discovery Motions DRAFT SET 1 OF DISCOVERY FOR LYNEER, CIERA, AND YUSEN.	BILLABLE	8/9/2019	1.1	\$550.00	\$605.00	AP	
Pleadings DRAFT JOINT RULE 26 REPORT.	BILLABLE	8/8/2019	2.1	\$750.00	\$1,575.00	KJO	

## PracticePanther - Anita Trejo | Trejo v. Lyneer Starling Solutions, LLC, et al. (Class) Filed 03/04/22 Page 63 of 75 Page ID #:1267

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY
	Court Mandated Conferences TELEPHONE CALL TO BIMALI WALGAMPAYA REGARDING JOINT RULE 26 REPORT.		BILLABLE		8/8/2019		0.1		\$750.00		\$75.00		KJO
	• Pleadings DRAFT STIPULATION TO CONTINUE CLASS CERTIFICATION DEADLINE.		BILLABLE		8/8/2019		2.7		\$450.00		\$1,215.00		CFA
	Court Mandated Conferences DRAFT JOINT RULE 26(f) REPORT	Т.	BILLABLE		8/8/2019		1.6		\$750.00		\$1,200.00		KJO
	• Written Discovery DRAFT FOUR SETS OF INITIAL DISCOVERY TO LYNEER STAFFING, CIERA STAFFING LLC, AND YUSEN LOGISTICS INC.	.,	BILLABLE		8/8/2019		2.9		\$450.00		\$1,305.00		CFA
	Analysis/Strategy MEET AND CONFER WITH KATIE ALEX AND OPPOSING COUNSEL RE JOINT RULE 26 CONFERENCE	L	BILLABLE		8/1/2019		0.8		\$450.00		\$360.00		CFA
	• Discovery Motions MEET AND CONFER WITH OPPOSING COUNSEL REGARDING RULE 26 DISCOVER CONFERENCE.	₹Y	BILLABLE		8/1/2019		1.3		\$550.00		\$715.00		AP

Panther	- Anita Trejo   Trejo v. Lyneer st	L9-CV-04132-DS	SE-JC Documen	t 75-3 Filed 03/ #:1268	04/22 Page 64 o	f 75 Page I	D	
0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	RATE	TOTAL	BILLED BY	0 0 0
	• Court Mandated Conferences RULE 26 CONFERENCE OF COUNSEL.	BILLABLE	8/1/2019	1.1	\$750.00	\$825.00	Кјо	
	• Analysis/Strategy EMAIL CORRESPONDENCE FROM ALEX RE TASK TO CALL OPPOSING COUNSEL.	BILLABLE	7/29/2019	0.1	\$450.00	\$45.00	CFA	
	Court Mandated Conferences REVIEW/RESPOND TO EMAIL FROM BIMALI WALGAMPAYA REGARDING RULE 26 CONFERENCE OF COUNSEL.	BILLABLE	7/26/2019	0.2	\$750.00	\$150.00	KJO	
	• Court Mandated Conferences DRAFT EMAIL TO DANIEL CHAMMAS, ATTORNEY FOR YUSEN.	BILLABLE	7/16/2019	0.1	\$750.00	\$75.00	κιο	
	Court Mandated Conferences MEET AND CONFER WITH SENIOR ATTORNEY K. ODENBREIT REGARDING RULE 26 CONFERENCE AND REPORT.	BILLABLE	7/16/2019	0.2	\$550.00	\$110.00	AP	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Staffing Solutions, LLC, et al. (Class) Filed 03/04/22 Page 65 of 75 Page ID #:1269

				#.1209				
0 0 0	ITEM	STATUS	: DATE ↓	: HRS.	: RATE :	TOTAL	BILLED BY	0 0 0
	• Analysis/Strategy EMAIL CORRESPONDENCE TO AND FROM OPPOSING COUNSEL RE MEETING OF COUNSEL AND MEET AND CONFER.	BILLABLE	7/12/2019	0.1	\$450.00	\$45.00	CFA	
	• Court Mandated Conferences EMAIL EXCHANGE WITH DANIEL CHAMMAS REGARDING CONFERENCE CALL.	BILLABLE	7/11/2019	0.2	\$750.00	\$150.00	КЮ	
	• Analysis/Strategy MEET AND CONFER WITH KATIE RE PMQ DEPO NOTICE AND INITIAL DISCOVERY.	BILLABLE	6/28/2019	0.4	\$450.00	\$180.00	CFA	
	Court Mandated Conferences TELEPHONE CALL TO DANIEL CHAMMAS, YUSEN, REGARDING RULE 26 CONFERENCE OF COUNSEL.	BILLABLE	6/28/2019	0.1	\$750.00	\$75.00	KJO	

#### Pleadings

REVIEW COURT DOCKET AND FILE FOR APPEARANCES BY DEFENDANT.

6/28/2019

0.4

\$750.00 \$300.00

кјо

cePanther - Anita Trejo   Trejo v. Lyneer Star	<b>9-cv-04132-DSI</b>	E-JC <sub>Class</sub> )ocument #	75-3 Filed 03/ #:1270	04/22 Page 66 of	75 Page II	)	
: ITEM :	STATUS	: DATE 🗸	HRS.	RATE	TOTAL	BILLED BY	0 0 0
• Court Mandated Conferences DRAFT EMAIL TO DANIEL CHAMMAS REGARDING RULE 26 CONFERENCE OF COUNSEL AND SERVICE OF REMOVAL ON LYNEER.	BILLABLE	6/28/2019	0.2	\$750.00	\$150.00	КЈО	
• Analysis/Strategy EMAIL CORRESPONDENCE FROM KATIE RE NOTICE OF REMOVAL PROOF OF SERVICE.	BILLABLE	6/28/2019	0.3	\$450.00	\$135.00	CFA	
• Analysis/Strategy EMAIL FROM NICOLE RE TRANSFERRING CASE, FEDERAL COURT CERTIFICATION AND TASKED TO REVIEW DOCUMENTS.	BILLABLE	6/13/2019	0.1	\$450.00	\$45.00	CFA	
• Communicate (with client) RETURN MS. TREJO'S PHONE CALL REGARDING STATUS OF HER DISABILITY CASE.	BILLABLE	6/5/2019	0.2	\$175.00	\$35.00	WR	
Analysis/Strategy MEETING WITH KEVIN MAHONEY REGARDING CASE STRATEGY.	BILLABLE	5/20/2019	0.3	\$750.00	\$225.00	КЈО	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) Filed 03/04/22 Page 67 of 75 Page ID

_	4.1	· · · ·	71
_	4		
			_

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0	BILLED BY	0 0 0
	Pleadings REVIEW REMOVAL DOCUMENTS UPDATE CASE PLAN, CALENDAI INITIAL DEADLINES.		BILLABLE		5/17/2019		0.8		\$200.00		\$160.00		NRP	
	Analysis/Strategy ANALYSIS STRATEGY RE REMOVAL OF CASE TO FEDERA COURT.	L	BILLABLE		5/16/2019		0.1		\$450.00		\$45.00		SD	
	• Analysis/Strategy RESEARCH REMAND ISSUES.		BILLABLE		5/16/2019		0.3		\$450.00		\$135.00		SD	
	• Analysis/Strategy STRATEGIZE RE REMOVAL TO FEDERAL COURT.		BILLABLE		5/14/2019		0.3		\$450.00		\$135.00		SD	
	• Analysis/Strategy REVIEW NOTICES OF ELECTRONIC FILING.		BILLABLE		5/14/2019		0.1		\$450.00		\$45.00		SD	
	• Analysis/Strategy STRATEGIZE RE SERVICE OF DEFENDANT CIERA AND EMAIL OPPOSING COUNSEL RE DEFENDANT CIERA'S RELATION TO DEFENDANT LYNEER STAFFING.		BILLABLE		5/7/2019		0.2		\$450.00		\$90.00		SD	

0 0 0	ITEM	0 0 0	STATUS	0 0 0	DATE 🕹	0 0 0	HRS.	0 0 0	RATE	0 0 0	TOTAL	0 0 0	BILLED BY
	• Analysis/Strategy Follow up with opposing Counsel via email re Defendant ciera's Relationship to defendant Lyneer.		BILLABLE		5/7/2019		0.1		\$450.00		\$45.00		SD
	Analysis/Strategy CONFERENCE WITH SHOOKAH DADASHZEDAH REGARDING CIERA STAFFING.		BILLABLE		5/3/2019		0.3		\$750.00		\$225.00		Кјо
	• Document Production DRAFT AND SEND EMAIL COMMUNICATION TO OPPOSING COUNSEL REGARDING INFORMAL DOCUMENT EXCHANGE.		BILLABLE		5/2/2019		0.2		\$450.00		\$90.00		AP
	▶ Fact Investigation/Developme DRAFT EMAIL TO BIMALI WALGAMPAYA REGARDING CONFERENCE CALL.	ent	BILLABLE		5/1/2019		0.2		\$750.00		\$150.00		КЈО
	• Analysis/Strategy PHONE CALL WITH OPPOSING COUNSEL TO INTRODUCE OURSELVES AND DISCUSS POTENTIAL INTEREST IN EARLY MEDIATION.		BILLABLE		5/1/2019		0.6		\$450.00		\$270.00		SD

PracticePanthe	er - Anita Trejo   Trejo v. Lyneer Sta	9-cv-04132-DSF-J	C <sub>Class</sub> ocument 75- #:12	3 Filed 03/04/22 73	Page 69 of 7	75 Page ID	
0 0	ITEM	STATUS	DATE 🕹	HRS.	RATE	TOTAL	BILLED BY
	• Analysis/Strategy PREPARE FOR PHONE CALL WITH OPPOSING COUNSEL.	BILLABLE	5/1/2019	0.5	\$450.00	\$225.00	SD
	• Written Discovery PREPARE SHELLS FOR WRITTEN DISCOVERY AND PERSONS MOST QUALIFIED.	BILLABLE	4/30/2019	1.3	\$175.00	\$227.50	WR
	Pleadings UPDATE CASE PLAN RE: SERVICE OF DEFENDANTS EMPLOYERS, LYNEER, AND YUSEN.	BILLABLE	4/29/2019	0.1	\$175.00	\$17.50	NRP
	• Pleadings UPDATE CALENDAR WITH NEW DUE DATES.	BILLABLE	4/29/2019	0.4	\$175.00	\$70.00	WR
	♥ Fact Investigation/Development REVIEW/RESPOND TO EMAIL FROM BIMALI WALGAMPAYA (DEFENSE COUNSEL) REGARDING CONFERENCE CALL.	BILLABLE	4/26/2019	0.2	\$750.00	\$150.00	KJO
	▶ Fact Investigation/Development REVIEW/RESPOND TO EMAIL FROM BIMALI WALGAMPAYA REGARDING CONFERENCE CALL.	BILLABLE	4/26/2019	0.1	\$750.00	\$75.00	KJO

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Starfing Solutions, LLC, et al. (Class) Filed 03/04/22 Page 70 of 75 Page ID

#:1274	

0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE :	TOTAL	BILLED BY
	• Pleadings REVIEW PROOF OF SERVICE OF SUMMONS RE: YUSEN, PREPARE FOR FILING.	BILLABLE	4/24/2019	0.2	\$175.00	\$35.00	NRP
	○ Pleadings REVIEW PROOF OF SERVICE OF SUMMONS RE: EMPLOYERS HR. PREPARE FOR FILING.	BILLABLE	4/24/2019	0.2	\$175.00	\$35.00	NRP
	• Pleadings UPDATE CALENDAR WITH NEW DATES.	BILLABLE	4/24/2019	0.2	\$175.00	\$35.00	WR
	• Communicate (with client) FINALIZE AND SEND A STATUS LETTER IN SPANISH WITH A COPY OF THE COMPLAINT AND THE ADR PACKAGE.	BILLABLE	4/10/2019	0.3	\$175.00	\$52.50	WR
	• Pleadings OPEN PLEADING CAPTION PAGE.	BILLABLE	4/9/2019	0.2	\$175.00	\$35.00	NRP
	• Pleadings PREPARE NOTICE OF DEPOSIT OF JURY FEES.	BILLABLE	4/9/2019	0.1	\$175.00	\$17.50	NRP
	Pleadings REVIEW CONFORMED COMPLAINT DOCUMENTS. UPDATE CASE PLAN.	BILLABLE	4/9/2019	0.7	\$175.00	\$122.50	NRP

PracticePanthe	er - Anita Trejo   Trejo v. Lyneer	2 <b>·19-</b> Staffin	GV-04132-DS	F-JC	Class)	ent 75-3 #:127	3 Filed C 75	3/04/22	Page 71	of 7	5 Page	ID		
0 0	ITEM	: S	TATUS	0 0 0	DATE ↓	0 0 0	HRS.		RATE	0 0 0	TOTAL		BILLED BY	0 0 0
	Pleadings REVIEW JUDICIAL ASSIGNMENT AND DETERMINE IF A PEREMPTORY CHALLENGE IS NECESSARY.		BILLABLE		4/9/2019		0.1		\$175.00		\$17.50		NRP	
	Document/File Management DRAFT EMAIL TO SHOOKAH DADASHZADEH REGARDING STATUS.		BILLABLE		4/2/2019		0.1		\$750.00		\$75.00		КЈО	
	Analysis/Strategy UPDATE CASE DESCRIPTION AN STATUS IN PRACTICE PANTHER		BILLABLE		4/2/2019		0.1		\$450.00		\$45.00		SD	
	Pleadings REVIEW AND EDIT COMPLAINT.		BILLABLE		3/27/2019		0.8		\$175.00		\$140.00		NRP	
	Pleadings PREPARE SUMMONS, CIVIL CAS COVER SHEET, ADDENDUM.	Ε	BILLABLE		3/27/2019		0.4		\$175.00		\$70.00		NRP	
	• Pleadings FINALIZE COMPLAINT FOR FILING.		BILLABLE		3/27/2019		0.2		\$175.00		\$35.00		NRP	
	Pleadings PREPARE FINAL EDITS TO COMPLAINT.		BILLABLE		3/21/2019		0.4		\$450.00		\$180.00		SD	

#### PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo | Trejo v. Lyneer - Stanfing Solutions, LLC, et al. (Class) PracticePanther - Anita Trejo Panther - PracticePanther - Anita Trejo Panther - Anit

-	4•1	5	7	6
+	+.J	LZ	. (	υ

0 0 0	ITEM	: STATUS	: DATE ↓	: HRS.	: RATE	: TOTAL	BILLED BY	0 0 0
	• Analysis/Strategy MEETING WITH SHOOKAH DADASHZADEH REGARDING STATUS AND STRATEGY.	BILLABLE	3/21/2019	0.3	\$750.00	\$225.00	Кјо	
	• Pleadings DISCUSS COMPLAINT WITH SHOOKAH DADASHADEH.	BILLABLE	3/21/2019	0.2	\$750.00	\$150.00	КЈО	
	• Pleadings PREPARE FINAL EDITS TO CLAS COMPLAINT.	S BILLABLE	3/21/2019	0.5	\$450.00	\$225.00	SD	
	• Analysis/Strategy UPDATE CASE NOTES.	BILLABLE	3/14/2019	0.1	\$450.00	\$45.00	SD	
	Analysis/Strategy DISCUSS STRATEGY RE FILING PRIVATE ATTORNEYS GENERAL ACT NOTICE WITH PARALEGALS		3/14/2019	0.2	\$450.00	\$90.00	SD	
	• Pleadings PREPARE PRIVATE ATTORNEYS GENERAL ACT NOTICE AND LWDA FILING.	BILLABLE	3/14/2019	0.2	\$450.00	\$90.00	SD	
	Analysis/Strategy REVIEW FACTS AND RESEARCH REIMBURSEMENT ISSUE.	BILLABLE	3/13/2019	0.4	\$450.00	\$180.00	SD	

0 0 0	ITEM	: S	TATUS	0 0 0	DATE ↓	0 0 0	HRS.	0 0	RATE	0 0	TOTAL	0 0 0	BILLED BY	
	• Pleadings EDIT AND FINALIZE PRIVATE ATTORNEYS GENERAL ACT NOTICE.		BILLABLE		3/13/2019		0.7		\$450.00		\$315.00		SD	
	• Communicate (with client) PHONE CALL WITH CLIENT OBTAINING ADDITIONAL INFORMATION REGARDING CLAIMS.		BILLABLE		3/12/2019		0.5		\$450.00		\$225.00		AP	
	<ul> <li>Communicate (with client)</li> <li>CALL CLIENT FOR ADDITIONAL INFORMATION.</li> </ul>		BILLABLE		3/12/2019		0.5		\$450.00		\$225.00		SD	
	• Communicate (with client) PHONE CALL WITH CLIENT DISCUSSING DOCUMENT SHE RECEIVED IN THE MAIL FROM EMPLOYER.		BILLABLE		3/12/2019		0.1		\$450.00		\$45.00		AP	
	Pleadings DRAFT CLASS COMPLAINT FOR REVIEW.	R	BILLABLE		3/12/2019		1.6		\$450.00		\$720.00		SD	
	Pleadings PREPARE PRIVATE ATTORNEYS GENERAL ACT NOTICE FOR REVIEW.		BILLABLE		3/12/2019		0.5		\$450.00		\$225.00		SD	

anthe	r - Anita Trejo   Trejo v. Lyneer	:19-cv-04132-E	SFF-JC <sub>Class</sub> )ocument ; et al. (class)	75-3 Filed 03 #1278	/04/22 Page 74 o	f 75 Page IE	)
0 0 0	ITEM	STATUS	: DATE ↓	HRS.	RATE	: TOTAL	BILLED BY
	Analysis/Strategy ANALYZE AND STRATEGIZE RE CLASS CLAIMS.	BILLABLE	3/12/2019	0.5	\$450.00	\$225.00	SD
	• Analysis/Strategy REVIEW DOCUMENTS AND EVIDENCE.	BILLABLE	3/8/2019	0.6	\$450.00	\$270.00	SD
	Pleadings DRAFT CLASS COMPLAINT.	BILLABLE	2/15/2019	1.5	\$450.00	\$675.00	SD
	• Analysis/Strategy REVIEW DOCUMENTS AND EVIDENCE.	BILLABLE	2/13/2019	1	\$450.00	\$450.00	SD
	• Analysis/Strategy SEARCH BUSINESS ENTITIES.	BILLABLE	2/13/2019	0.5	\$450.00	\$225.00	SD
	<b>Pleadings</b> PREPARE DRAFT PAGA NOTICE FOR REVIEW.	BILLABLE	2/13/2019	1.1	\$450.00	\$495.00	SD
	• Pleadings DRAFT COMPLAINT.	BILLABLE	2/13/2019	2.6	\$450.00	\$1,170.00	SD
	Analysis/Strategy REVIEW CORRESPONDENCE ANI DOCUMENTS PROVIDED BY DEFENDANT YUSEN LOGISTICS.	BILLABLE	2/6/2019	0.2	\$450.00	\$90.00	SD

Practi	cePanther	- Anita Trejo   Trejo v. Lyneer 23	19-cv-04132-DSI	<b>=-JC</b> t al. (Class) <b>ocumen</b>	t 75-3 Filed 03/0 #:1279	)4/22 Page 75 of	75 Page IE	)	
	0 0 0	ITEM	STATUS	: DATE 🕹	HRS.	RATE	: TOTAL	BILLED BY	0 0 0
		• Analysis/Strategy STRATEGIZE REGARDING CASE ASSIGNMENT.	BILLABLE	1/24/2019	0.1	\$450.00	\$45.00	SD	
		• Analysis/Strategy REVIEW CASE FACTS AND DETERMINE STATUTE OF LIMITATIONS.	BILLABLE	1/24/2019	0.2	\$450.00	\$90.00	SD	
		• Analysis/Strategy MEET WITH CLIENT TO SIGN RETAINER AGREEMENT AND DISCUSS STATUS OF CASE.	BILLABLE	1/23/2019	1	\$450.00	\$450.00	SD	
		• Communicate (with client) FOLLOW UP PHONE CALL WITH CLIENT.	BILLABLE	1/23/2019	0.2	\$450.00	\$90.00	SD	
		• Analysis/Strategy REVIEW FILE AND FOLLOW UP RE CLASS RETAINER.	BILLABLE	1/17/2019	0.4	\$450.00	\$180.00	SD	
					256.23		\$141,828.00	USD	